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TNPSC GROUP I – TEST BATCH 2022 
TEST XII – UNIT III GEOGRAPHY OF INDIA 

 
1. Consider the following statement 

Assertion (A): Mercury experiences extremes of temperature  
Reason (R): Because it has Atmosphere  
a. Both (A) and (R) is correct; R explains A 
b. Both (A) & (R) is correct; R doesn’t explain A 
c. (A) is correct (R) is wrong  
d. (A) wrong (R) correct  
e. Answer not known 
gpd;tUk; $w;iw ftdpf;f  
$w;W (A) : Gjd; kpf mjpf mstpyhd ntg;gj;ij czh;fpwJ.  
fhuzk; (R): Vnddpy; ,J tspkz;lyj;ijf; nfhz;Ls;sJ.  
a. (A) kw;Wk; (R) ,uz;Lk; rhp> (A) Tf;F fhuzk; (R) 
b. (A) kw;Wk; (R) ,uz;Lk; rhp> (A) Tf;F fhuzk; (R) my;y  
c. (A) kl;Lk; rhp (R) jtW  
d. (A) jtW (R) rhp 
e. tpil njhpatpy;iy  

 
2. Consider the statements  

1. Venus is called “Moring and Evening star” 
2. The Polar diameter of Earth is 12714 m. 
3. The Equatorial diameter is 12756m 
4. Blue / watery planet is the 5th largest planet 
5. Planet means “Wanderer” 
a. All are correct   b. All are wrong   c. 1, 2, 4, 5 correct 3 wrong   
d. 1, 4, 5 correct 2, 3 wrong  e. Answer not known 
gpd;tUtdtw;iw ftdpf;f.  
1. nts;sp "fhiy kw;Wk; khiy el;rj;jpuk;> vd miof;fg;gLfpwJ.  
2. Gtpapd; JUt tpl;lk; 12714 kPl;luhFk;.  
3. G+kj;jpa Nuif tpl;lk; 12756 kPl;luhFk;. 
4. ePy / ePh; Nfhs;> 5-tJ nghpa NfhshFk;.  
5. Nfhs; vd;why; Rw;wptUgth; vd;W nghUs;  
a. midj;Jk; rhp    b. midj;Jk; jtW  c. 1, 2, 4, 5 rhp 3 jtW   
d. 1, 4, 5 rhp 2, 3 jtW   e. tpil njhpatpy;iy 

 
3. International Mountain day is celebrated on _________ 

a. November 10   b. December 11  c. December 10  
d. November 11    e. Answer not known 

 rh;tNjr kiyfs; jpdk; ________ Mz;L nfhz;lhlg;gl;lJ.  
 a. etk;gh; 10    b. brk;gh; 11   c. brk;gh; 10   

d. etk;gh; 11    e. tpil njhpatpy;iy 
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4. Which country has maximum Time zones  
a. France   b. Russia     c. USA    
d. India   e. Answer not known 
ve;j ehl;by; mjpf Neu kz;lyq;fisf; nfhz;Ls;sJ?  
a. gpuhd;];   b. u~;ah    c. mnkhpf;f If;fpa ehL  
d. ,e;jpah   e. tpil njhpatpy;iy 

 

5. Which of the following statements is/are correct? 
1. Himalayan Mountains are the youngest fold mountains  
2. Himalayan Mountain is known as “The roof of the world” 
3. The Pamir Knot popularly known as “The abode of Snow”. 
4. Eastern Himalayas is known as Tibetan Himalayas  
a. 1, 2, 3, 4 are correct  b. 1, 2, 3 are correct   c. Only 1, 4 are correct   
d. Only 1 is correct   e. Answer not known 
gpd;tUk; $w;Wfspy; vit rupahdJ? 
1. ,kakiyj; njhlu;fs; ,sk; kbg;G kiyj; njhlu;fs; MFk;. 
2. ,kakiy “cyfpd; $iu” vd miof;fg;gLfpwJ. 
3. gkPu;Kbr;R “gdp ciwtplk;” vd miof;fg;gLfpwJ. 
4. fpof;F ,kakiyj;njhlu; “jpngj;jpad; ,kakiy” vdTk; miof;fg;gLfpwJ. 
a. 1> 2> 3> 4 rup  b. 1> 2> 3 rup   c. 1> 4 kl;Lk; rup    

d. 1 kl;Lk; rup  e. tpil njhpatpy;iy 
 

6. Consider the following statements 
1. Out of 13 highest peaks in world, Himalayas holds 8 
2. Kanchenjunga is located between Nepal and Uttarkhand 
3. Major Hill station are located at Himachal  
4. Khyber Pass connects Pakistan and India 
5. Longitudinal Valleys found between Siwaliks and Lesser Himalayas are called 

Duns in the west and Duars in the east      
a. 1, 3, 5 are correct   b. 3, 4, 5 are incorrect   c. Only 3, 5 are correct   
d. Only 1, 2, 3 are correct    e. Answer not known  
gpd;tUk; $w;Wfis Ma;f 
1. cyfpYs;s 13 caukhd rpfuq;fspy; 8 rpfuq;fs; ,kakiyapy; cs;sJ. 
2. fQ;rd; [q;fh rpfuk; Neghsk; kw;Wk; cj;jufhz;l; ,ilNa mike;Js;sJ. 
3. Gfo;ngw;w Nfhil thoplq;fs; ngUk;ghYk; ,khr;ry; njhlupy; mike;Js;sd. 
4. ifgu; fztha; ghfp];jhidAk; ,e;jpahitAk; ,izf;fpwJ. 
5. FWfyhd ePz;l gs;sj;jhf;Ffs; rpwpa ,kakiyf;Fk; ntspg;Gw ,kakiyf;Fk; 

,ilapy; fhzg;gLfpd;wd. ,it fpof;F gFjpapy; ^au;]; vdTk; Nkw;Fg; 
gFjpapy; ^d;fs; vdTk; miof;fg;gLfpwJ. 

a. 1> 3> 5 rhp   b. 3> 4> 5 rhp    c. 3> 5 kl;Lk; rup   
d. 1> 2> 3 rup   e. tpil njhpatpy;iy 

 

7. Consider the following 
Assertion (A): All rivers originating from the Himalayas are perennial  
Reason (R): Himalayas receive much of their percipitation from south-western monsoon    
a. Both A and R are true and R is the correct explanation of A 
b. Both A and R are true and R is not the correct explanation of A 
c. A is true but R is false  
d. A is false but R is true 
e. Answer not known    
gpd;tUtdtw;iw Ma;f 
$w;W (A):,kakiyapy; cUthFk; MWfs; midj;Jk; tw;whj [Ptejpfshfj; 
jpfo;fpd;wd. 
fhuzk; (R) : ,kakiy ngUk;ghyhd kiog; nghopit njd;Nkw;F gUtj;jpd; %yk; 
ngWfpwJ. 
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a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk; 
b (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fky;y 
c. (A) rup> Mdhy; (R) jtW 
d. (A) jtW Mdhy; (R) rup 
e. tpil njhpatpy;iy 

 
8. Consider the following 

1. In delta, uplands are called ‘Bils’ and the marshy areas are called ‘chars’. 
2. Pushkar lake near Jaipur is one of the salt-lake in India 
a. Both 1, 2 are correct  b. 1 only correct  c. 2 only correct   
d. Both 1, 2 are incorrect  e. Answer not known 
gpd;tUtdtw;iw Ma;f 
1. nly;lh gFjpfspy; cau;epyg;gFjp “gpy;];” vdTk; rJg;G epyg;gFjp “rhu;];” vdTk; 

miof;fg;gLk;. 
2. n[a;g;G+Uf;F mUfpYs;s G~;fu; Vup ,e;jpahtpd; cg;G Vupfspy; xd;W. 
a. 1> 2 Mfpa ,uz;LNk rup b. 1 kl;Lk; rup  c. 2 kl;Lk; rup   
d. 1> 2 Mfpa ,uz;LNk jtW e. tpil njhpatpy;iy 
 

9. Consider the following statements about Anaimudi 
1. The peak of Anaimudi is the highest point in Western Ghats. 
2. Its height is 2965m and located in Anaimalai. 

a. Both 1,2 are correct  b. Only 1 is correct  c. Only 2 is correct   
d. Both 1, 2 are incorrect  e. Answer not known 
MidKb gw;wpa $w;Wfis Ma;f 
1. MidKb vd;gJ Nkw;Fj; njhlu;r;rp kiyapd; caukhd rpfuk;. 
2. ,jd; cauk; 2965 kPl;lu; kw;Wk; ,J Midkiy gFjpapy; mike;Js;sJ. 
a. 1> 2 Mfpa ,uz;LNk rup b. 1 kl;Lk; rup  c. 2 kl;Lk; rup   
d. 1> 2 Mfpa ,uz;LNk jtW e. tpil njhpatpy;iy 

 
10. Which of the following statements about Western Coastal plain is / are correct? 

1. Northern part is Kanara 
2. Middle part is Konkan plain 
3. Souther part is Malabar coast 
4. Vembanad is a famous back water lake found in this region. 
a. 1,2,3,4 are correct  b. 1,2,3 are correct   c. Only 1,2 are correct  
d. Only 3,4 are correct e. Answer not known 
Nkw;F flw;fiu rkntspiag; gw;wp gpd;tUk; $w;Wfspy; vit rupahdit? 
1. tlgFjp fduh   
2. kj;jpag;gFjp nfhq;fzf; flw;fiu 
3. njd;gFjp kyghu; flw;fiu. 
4. Ntk;g ehL Vup ,g;gFjpapy; cs;s Kf;fpakhd VupahFk;. 
a. 1> 2> 3> 4 rup   b. 1> 2> 3 rup   c.1> 2 kl;Lk; rup   
d. 3> 4 kl;Lk; rup   e. tpil njhpatpy;iy 

 
11. The Ten Degree channel separates ____. 

a. Andaman and Nicobar    b. Nicobar and Lakshadeep 
c. Lakshadeep and Minicoy  d. Nicobar and Minicoy 
e. Answer not known 
10° fhy;tha; ____ ia gpupf;fpwJ. 
a. me;jkhd; kw;Wk; epf;Nfhghu;  b. epf;Nfhghu; kw;Wk; yl;rj;jPT 
c. yl;rj;jPT kw;Wk; kpdpf;fha;  d. epf;Nfhghu; kw;Wk; kpdpf;;fha; 
e. tpil njhpatpy;iy 
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12. Match the following 
Biosphere Reserves  State 
A. Manas   1. Odisha 
B. Simlipal   2. Assam 
C. Cold Desert  3. Himachal Pradesh 
D. Panna   4. Madhya Pradesh 
 A B C D 
a. 1 2 3 4 
b. 2 1 4 3 
c. 2 1 3 4 
d. 1 2 4 3 
e. Answer not known 
nghUj;Jf 
capu;f;Nfhs fhg;gfk; khepyk; 
A. khdh];   1. xb~h 

B. rpk;ypghy;   2. m]hk; 
C. Fspu; ghiytdk;  3. ,khr;ryg; gpuNjrk; 
D. gd;dh   4. kj;jpag; gpuNjrk; 
 A B C D 
a. 1 2 3 4 
b. 2 1 4 3 
c. 2 1 3 4 
d. 1 2 4 3 
e. tpil njhpatpy;iy 

 
13. Match the following 

Shifting Cultivation  State 
A. Poonam    1. Assam 
B. Jhum    2. Madhya Pradesh 
C. Mashan    3. Kerala 
D. Podu    4. Andhrapradesh, Odisha 
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 4 1 2 3 
d. 3 1 2 4 
e. Answer not known 
nghUj;Jf 
,lk;ngau;T Ntshz;ik  khepyk; 
A. nghd;dk;    1. m]hk; 
B. [Pk;     2. kj;jpag; gpuNjrk; 
C. khrd;    3. Nfush 
D. nghL    4. Me;jpuh> xb~h 
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 4 1 2 3 
d. 3 1 2 4 
e. tpil njhpatpy;iy 
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14. Which of the following statements is/are correct? 
1. First livestock census in India was conducted in 1919 
2. 19th Livestock census was conducted in October 2012 
3. Livestock census conduct Five year once. 
4. India is the third largest producer of fish in the world. 
a. 1, 2, 3, 4  b. 1, 2, 3 c. 2, 3, 4 d. 1, 3, 4 e. Answer not known 
gpd;tUk; $w;Wfspy; vit rupahdit? 
1. ,e;jpahtpd; Kjy; fhy;eil fzf;nfLg;G 1919 Mk; Mz;L elj;jg;gl;lJ. 
2. 19tJ fhy;eil fzf;nfLg;G mf;Nlhgu; 2012 ,y; elj;jg;gl;lJ. 
3. fhy;eil fzf;nfLg;G Ie;jhz;LfSf;F xUKiw vLf;fg;gLfpwJ. 
4. cyfstpy; kPd; cw;gj;jpapy; ,e;jpah %d;whkplk;. 
a. 1> 2> 3> 4  b. 1> 2> 3 c. 2> 3> 4 d. 1> 3> 4 e. tpil njhpatpy;iy 

 
15. Match the following 

Revolution   Related Product 
A. Red Revolution  1. Onion/Pharmacuticals 
B. Green Revolution  2. Milk Production 
C. White Revolution 3. Food Grains 
D. Pink Revolution  4. Meat and Tomato 
 A B C D 
a. 1 2 3 4 
b. 1 3 2 4 
c. 4 3 2 1 
d. 2 1 4 3 
e. Answer not known 
nghUj;Jf:- 
Gul;rpfs;   cw;gj;jpfs; 
A. rptg;G Gul;rp  1. ntq;fhak;/kUe;J nghUl;fs; 
B. gRik Gul;rp  2. ghy; cw;gj;jp 
C. ntz;ikg;Gul;rp  3. czT jhdpaq;fs; 
D. ,sQ;rptg;G Gul;rp 4. ,iwr;rp kw;Wk; jf;fhsp 
 A B C D 
a. 1 2 3 4 
b. 1 3 2 4 
c. 4 3 2 1 
d. 2 1 4 3 
e. tpil njhpatpy;iy 

 
16. Which of the following statements is/are correct? 

1. Odisha is the largest producer of bauxite in India. 
2. National Aluminium company limited was incorporated as a public sector enterprise 
in 1982. 
3. Abhrak is a good quality mica. 
4. Gypsum is a hydrated sulphate of calcium. 
a. 1, 2, 3, 4 are correct b. 1, 2, 3 are correct  c. 2, 3, 4 are correct  
d. 1, 3, 4 are correct  e. Answer not known 
gpd;tUk; $w;Wfspy; vit rupahdit? 
1. ,e;jpahtpy; ghf;i]l; cw;gj;jpapy; xb~h Kjyplk;. 
2. Njrpa mYkpdpa epWtdk; 1982 Mk; Mz;L nghJ Jiw epWtdkhf 
cUthf;fg;gl;lJ. 
3. mg;uhf tif xU ey;y jukhd ikf;fh. 
4. [pg;rk; vd;gJ fhy;rpak; ry;/Ngl;bd; ePu;k fdpkkhFk;. 
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a. 1> 2> 3> 4 rup  b. 1> 2> 3 rup   c. 2> 3> 4 rup   
d. 1> 3> 4 rhp   e. tpil njhpatpy;iy 

 
17. Which of the following statements is/are correct? 

1. Coal India Limited (CIL) is the largest coal-producing company in the world. 
2. (NTPC) National Thermal Power Corporation was established in 1972. 
3. The First hydro-electric power station in India established at Darjeeling in 1897. 
4. Neyveli, Mettur, Thoothukudi and Ennore are the important hydro-electric power 
stations in Tamilnadu. 
a. 1,2,3,4 are correct   b. 1,2,3 are correct  c. 1,3 are correct  
d. 2,3 are correct   e. Answer not known 
gpd;tUk; $w;Wfspy; vit rupahdJ? 
1. ,e;jpa epyf;fup epWtdk; cyfstpy; mjpf epyf;fupia cw;gj;jp nra;fpwJ. 
2. Njrpa mdy; kpd; epiyak; (NTPC) 1972 Mk; Mz;L njhlq;fg;gl;lJ. 
3. ,e;jpahtpd; Kjy; ePu;kpd; epiyak; 1897 ,y; lhu;[pypq;fpy; epWtg;gl;lJ. 
4. nea;Ntyp> Nkl;^u;> J}j;Jf;Fb kw;Wk; vz;Z}u; Mfpad jkpo;ehl;bd; Kf;fpa ePu;kpd; 
epiyaq;fshFk;.  
a. 1>2>3>4 rup    b. 1>2>3 rup   c. 1>3 rup   
d. 2>4 rup    e. tpil njhpatpy;iy 

 
18. Which of the following statements is/are wrong? 

1. Photovoltaics convert light into an electric current using the photovoltaic effect. 
2. In 1982 first wind Farm were setup in Odisha. 
3. In 1998, National Institute of wind energy was established at Chennai. 
4. First cotton textile mill was established at Fort Gloster near Kolkata in 1818. 
5. Jute is called as the silver Fibre. 
a. 1, 2, 3 b. 1, 3, 5 c. 2, 4  d. 2, 5  e. Answer not known 
gpd;tUk; $w;Wfspy; vit jtwhdit? 
1. kpd;dOj;jpfs; #upa Mw;wiy kpd;dhw;wyhf khw;Wfpd;wd. 
2. 1982 Mk; Mz;L xb~htpy; Kjy; fhw;whiy gz;iz epWtg;gl;lJ. 
3. 1998 ,y; Njrpa fhw;whw;wy; epWtdk; nrd;idapy; epWtg;gl;lJ. 
4. 1818 ,y; ,e;jpahtpd; Kjy; gUj;jp nerthiy nfhy;nfhj;jh mUfpy; Nghul; f;sh];lu; 
vd;Dkplj;jpy; epWtg;gl;lJ. 
5. nts;spapio vd miof;fg;gLtJ rzy;. 
a. 1, 2, 3 b. 1, 3, 5 c. 2, 4  d. 2, 5  e. tpil njhpatpy;iy 
 

19. Match the following 
Name of Industry     Establishment Year 
A. TISCO      1. 1982 
B. IISCO      2. 1972 
C. Salem Steel Company    3. 1923 
d. Visweshwaraya Iron Steel Company  4. 1911 
 A B C D 
a. 1 2 3 4 
b. 2 1 4 3 
c. 4 1 2 3 
d. 4 2 1 3   e. Answer not known 
nghUj;Jf 
njhopw;rhiyapd; ngau;    Mz;L 
A. TISCO      1. 1982 
B. IISCO      2. 1972 
C. Nryk; v/F Miy    3. 1923 
D. tp];Nt];tua;ah ,Uk;G v/F epWtdk; 4. 1911 
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 A B C D 
a. 1 2 3 4 
b. 2 1 4 3 
c. 4 1 2 3 
d. 4 2 1 3 
e. tpil njhpatpy;iy 

 
20. The period of population explosion is ____. 

a. 1901 – 1921 b. 1921 – 1951  c. 1951 – 1981   
d. 1981 – 2001 e. Answer not known 
kf;fs; njhif ntbg;G fhyk; ___. 
a. 1901 – 1921 b. 1921 – 1951  c. 1951 – 1981  
d. 1981 – 2001 e. tpil njhpatpy;iy 
 

21. Which of the following statements about 2011 census is/are correct? 
1. Kerala : The state with highest Sex Ratio and Literacy rate. 
2. India’s Literacy rate is 74.04% 
3. Female literacy is 82.14% 
4. Male literacy is 65.46% 
5. The cities with more than Ten million population are known as “Megacities”. 
a. 1, 2, 3, 4, 5  b. 2, 3, 4, 5    c. 1, 2, 5    
d. 2, 3, 4  e. Answer not known 
2011 Mk; Mz;L kf;fs;njhif fzf;nfLg;gpd;gb gpd;tUk; $w;Wfspy; vit rupahdit? 
1. Nfush : mjpf ghypd tpfpjk; kw;Wk; mjpf vOj;jwpT nfhz;l khepyk;. 
2. ,e;jpahtpd; vOj;jwpT tPjk; 74.04% 
3. ngz;fspd; vOj;jwpT 82.14% 
4. Mz;fspd; vOj;jwpT 65.46% 
5. gj;J kpy;ypaDf;F Nkyhd kf;fs;njhif nfhz;l efuq;fs; “nkfh efuq;fs;” 
vd;wiof;fg;gLfpd;wJ. 
a. 1, 2, 3, 4, 5  b. 2, 3, 4, 5    c. 1, 2, 5    
d. 2, 3, 4  e. tpil njhpatpy;iy 

 
22. Which of the following statements about 2011 census is/are correct? 

1. The level of urbanisation has increased more than four times from 1901 to 2011. 
2. Goa is the least urbanized state 
3. Himachal Pradesh is the most urbanized state. 
4. Tamilnadu continues to be the most urbanized state with 48.4% of urban population. 
a. All fo these b. 3, 4  c. only  d. only 4 e. Answer not known  
2011-k; Mz;L fzf;nfLg;gpd;gb gpd;tUk; $w;Wfspy; vit rupahdit? 
1. ,e;jpahtpy; efukakhf;fypd; epiy 1901 Kjy; 2011-Mk; Mz;bw;Fs; ehd;F klq;fpw;F 

Nky; mjpfupj;Js;sJ. 
2. Nfhth khepyk; kpf Fiwe;j efukakhf;fg;gl;l gFjpahFk;. 
3. ,khr;ryg;gpuNjrk; kpFe;j efukakhf;fg;gl;l gFjpahFk;. 
4. ngupa khepyq;fSs; 48.4% nfhz;L jkpo;ehL kpFe;j efukakhf;fg;gl;l khepykhf 

jpfo;fpwJ. 
a.  ,it midj;Jk;    b. 3, 4 c. 3 kl;Lk; d. 4 kl;Lk; e. tpil njhpatpy;iy 

 
23. Consider the following statements 

I. The longest National Highway is NH-7 runs from Varanasi to Kanniyakumari. 
II. It covering a distance of 2639km. 
a. Both I, II are correct  b. Only I is correct  c. Only II is correct   
d. Both I & II are incorrect  e. Answer not known 
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gpd;tUk; $w;Wfis Ma;f 
I. ,e;jpahtpy; kpf ePskhd Njrpa neLQ;rhiy NH7 thuzhrpapypUe;J 

fd;dpahFkuptiu nry;fpwJ. 
II. ,J 2639 fp.kP. ePsk; nfhz;lJ.  
a. I, II Mfpa ,uz;LNk rup  b. I kl;Lk; rup  c. II kl;Lk; rup   
d. I, II Mfpa ,uz;LNk jtW  e. tpil njhpatpy;iy 

 
24. The length of Golden Quadrilateral Road is ___. 

a. 5846 km  b. 5849 km   c. 5864 km   
d. 5894 km  e. Answer not known 
jq;f ehw;fu rhiyapd; ePsk; ____. 
a. 5846 km  b. 5849 km   c. 5864 km   
d. 5894 km  e. tpil njhpatpy;iy 

 
25. Which of the following statements is/are incorrect? 

I. North-South corridor connecting Srinagar with Kanniyakumari 
II. Distance covered by North-South corridor is 4076 km. 
III. East – West corridor connection Slichar with Ahamadabad. 
IV. Distance covered by East-West corridor is 3460km. 
a. I, II  b. II, IV  c. I, III  d. III, IV e. Answer not known 
gpd;tUk; $w;Wfspy; jtwhdit vit? 
I. tl-njd; gFjpfis ,izf;Fk; rhiy =efu; kw;Wk; fd;dpahFkup ,ilNa 
mike;Js;sJ. 
II. tl-njd; rhiyapd; ePsk; 4076 fp.kP. 
III. fpof;F – Nkw;F rhiy rpy;ru; kw;Wk; mfkjhghj;ij ,izf;fpwJ. 
IV. fpof;F – Nkw;F gFjpfis ,izf;Fk; rhiyapd; ePsk; 3460 km. 
a. I, II  b. II, IV  c. I, III  d. III, IV e. tpil njhpatpy;iy 
 

26. The LCM of two numbers is 6 times their HCF. The sum of the HCF and LCM is 210, 
then HCF is equal to 
a. 1260   b. 35   c. 210   d. 30  e. Answer not known 
,uz;L vz;fspd; kP.rp.k. MdJ mtw;wpd; kP.ngh.t. -d; 6 klq;F. NkYk; kP.rp.k. kw;Wk; 
kP.ngh.t. f;fspd; $Ljy; 210 vdpy;> kP.ngh.t. -d; kjpg;G 
a. 1260   b. 35   c. 210   d. 30  e. tpil njhpatpy;iy 

 
27. Six bells commence tolling together, afterwards they toll at intervals of 2, 4, 6, 8,10 and 

12 seconds respectively. In 30 minutes, how many times do they toll together? 
a. 4   b. 10   c. 15    d. 16  e. Answer not known 
6 kdpfs; Kjypy; xd;whf xypf;fpd;wJ. gpd;dh; mit xt;nthd;Wk; 2> 4> 6> 8> 10 kw;Wk; 
12 tpdhbfs; ,ilntsp tpl;L mbf;Fk; vd;why;> 30 epkplj;jpy; vj;jid Kiw MW 
kzpfs; xd;whf Nrh;e;J xypj;jpUf;Fk;? 
a. 4   b. 10   c. 15    d. 16  e. tpil njhpatpy;iy 

 
28. Wilson, Mathan, Guna can complete one round of a circular track in 10, 15 and 20 

minutes respectively. If they start together at 7 am from the starting point at what time 
will they meet together again at the starting point? 
a. 8 am   b. 8 pm    c. 5 pm 
d. 9 am   e. Answer not known 
tpy;rd;> kjd;> Fzh MfpNahh; xU tl;l tbtpyhd XLghij xd;iw Rw;wptu 10> 15 
kw;Wk; 20 epkplq;fs; MFk;. mth;fs; njhlf;fg; Gs;spapy; fhiy 7 kzpf;F xd;whfr; 
Rw;wj; njhlq;fpdhy;> mth;fs; kPz;Lk; vg;NghJ njhlf;fg; Gs;spapy; xd;whfr; 
re;jpg;ghh;fs;? 
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a. 8 K.g   b. 8 gp.g    c. 5 gp.g 
d. 9 K.g   e. tpil njhpatpy;iy 

 
29. Find the LCM of a2 + 4a −12, a2 − 5a + 6 whose GCD is a – 2 

a. (a + 6)(a -2)(a -3)   b. (a -2)(a -3)   c. (a - 1)(a -2)(a -3)   
d. (a + 6)(a -2)  e. Answer not known 
kP.ngh.k fhz;f a2 + 4a −12, a2 − 5a + 6  ,tw;wpd; kP.ng.t a – 2 
a. (a + 6)(a -2)(a -3)   b. (a -2)(a -3)   c. (a - 1)(a -2)(a -3)   
d. (a + 6)(a -2)  e. tpil njhpatpy;iy 

  
30. The HCF of two numbers is 2 and their LCM is 154. If the difference between the 

numbers is 8, then the sum is 
a. 26   b. 36   c. 46   d. 56  e. Answer not known 
,U vz;fspd; k.ngh.t 2 kw;Wk; mtw;wpd; kP.rp.k 154. mt;tpU vz;fSf;fpilNa cs;s 
NtWghL 8 vdpy;> mtw;wpd; $Ljy; ________ 
a. 26   b. 36   c. 46   d. 56  e. Answer not known 
 

31. Which of the following statements about Indian railways is/are correct? 
1. Indian railways network is the largest in Asia and Second largest in the world. 
2. First train steamed off from Mumbai to Thane in 1853 covering a distance of 34km. 
3. Nationalised in 1952. 
4. Headquarter of Indian Railways is New Delhi. 
a. 1, 2, 3, 4 b. 1, 2, 3  c.1, 3, 4 d. 1, 2, 4 e. Answer not known 
,e;jpa ,uapy;Nt gw;wp gpd;tUk; $w;Wfspy; vit rupahdit? 
1. ,e;jpa ,uapy;Nt mikg;G Mrpa mstpy; Kjyplj;jpYk; cyfstpy; 
,uz;lhkplj;jpYk; cs;sJ. 
2. Kjy; ,uapy; Nghf;Ftuj;J Kk;ig kw;Wk; jhNd efuq;fSf;fpilNa 34 fp.kP. 
J}uj;jpw;F 1853 Mk; Mz;L njhlq;fg;gl;lJ. 
3. 1952,y; Njrpakakhf;fg;gl;lJ. 
4. jiyikafk; GJnly;ypapy; mike;Js;sJ. 
a. 1, 2, 3, 4 b. 1, 2, 3  c.1, 3, 4 d. 1, 2, 4 e. tpil njhpatpy;iy  
 

32. Match the following 
Railway Zones   Headquarter 
A. Northern Railway  1. Delhi 
B. North Western Railway  2. Gorakhpur 
C. North Central Railway  3. Jaipur 
D. North Eastern Railway  4. Allahabad 
 A B C D 
a. 1 2 3 4 
b. 1 2 4 3 
c. 2 1 3 4 
d. 1 3 4 2 
e. Answer not known 
nghUj;Jf. 
,uapy;Nt kz;lyk;   jiyikaplk; 
A. tlf;F ,uapy;Nt   1. nly;yp 
B. tlNkw;F ,uapy;Nt  2. Nfhuf;G+u; 
C. tlkj;jpa ,uapy;Nt  3. n[a;g;G+u; 
D. tlfpof;F ,uapy;Nt  4. myfhghj; 
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 A B C D 
a. 1 2 3 4 
b. 1 2 4 3 
c. 2 1 3 4 
d. 1 3 4 2 
e. tpil njhpatpy;iy 
 

33. Match the following 
Railway Zone    Headquarter 
A. North-east Frontier Railway  1. Guwahati 
B. West-central Railway   2. Mumbai 
C. Western Railway    3. Jabalpur 
D. Southern Railway   4. Chennai 
 A B C D 
a. 1 2 3 4 
b. 1 3 2 4 
c. 1 4 2 3 
d. 1 2 4 3 
e. Answer not known 
nghUj;Jf 
kz;lyk;     jiyikaplk;  
A. tl-fpof;F flw;fiu ,uapy;Nt  1. nfsfhj;jp 
B. Nkw;F kj;jpa ,uapy;Nt   2. Kk;ig 
C. Nkw;F ,uapy;Nt    3. [ghy;G+u; 
D. njw;F ,uapy;Nt    4. nrd;id 
 A B C D 
a. 1 2 3 4 
b. 1 3 2 4 
c. 1 4 2 3 
d. 1 2 4 3 
e. tpil njhpatpy;iy 
 

34. Which of the following statements is/are correct? 
1. In India Quick mail service was introduced in 1972. 
2. Postal Index number was introduced in 1975. 
a. Both 1, 2 are correct  b. Only 1 is correct   c. Only 2 is correct  
d. Both 1, 2 are incorrect  e. Answer not known 
gpd;tUk; $w;Wfspy; vit rupahdit? 
1. ,e;jpahtpy; tpiuT mQ;ry; Nrit 1972 ,y; mwpKfk; nra;ag;gl;lJ. 
2. mQ;ry; FwpaPl;L vz; 1975-,y; mwpKfk; nra;ag;gl;lJ. 
a. 1> 2 Mfpa ,uz;LNk rup b. 1 kl;Lk; rup   c. 2 kl;Lk; rup  
d. 1> 2 Mfpa ,uz;LNk jtW e. tpil njhpatpy;iy 
 

35. Consider the following statements 
I. Radio Broadcasting in India was started in 1923. 
II. In 1936 it was named as Aakashwani. 
III. In 1957, it was renamed as All India Radio. 
IV. India is the second largest online market after China. 
a. I, II, III, IV are correct  b. I, II are correct  c. III, IV are correct   
d. I, IV are correct   e. Answer not known 
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gpd;tUk; $w;Wfis Ma;f 
I. ,e;jpahtpy; thndhyp xypgug;G 1923-,y; njhlq;fg;gl;lJ. 
II. 1936-,y; mfh~;thdp vd ngau; khw;wk;. 
III. 1957-,y; mide;jpa thndhyp vd ngau; khw;wk;. 
IV. ,iza gad;ghl;by; rPdhtpw;F mLj;jgbahf ,e;jpah cyfshtpy; 

,uz;lhkplj;jpy; cs;sJ. 
a. I, II, III, IV rup   b. I, II rup   c. III, IV rup  
d. I, IV rup    e. tpil njhpatpy;iy   
 

36. Which of the following is known as Brown Coal? 
a. Bituminous   b. Peat    c. Lignite    
d. Anthracite   e. Answer not known 
gpd;tUtdtw;Ws; gOg;G epyf;fpup vd miof;fg;gLtJ? 
a. gpl;Lkpd];   b. gPl;    c. ypf;idl;   
d. Me;jpuhirl;  e. tpil njhpatpy;iy 

 
37. India’s largest wind farms is located at _________ 

a. Kamuthi   b. Vadodara     c. Muppandal  
d. Aralvazhmozhi  e. Answer not known 
,e;jpahtpd; kpfg;ngupa fhw;whiyg; gz;iz mike;Js;s ,lk;? 
a. fKjp   b. tNjhjuh    c. Kg;ge;jy;    
d. Muy;tha;nkhop  e. tpil njhpatpy;iy 

 
38. Which of the following is/are correctly matched? 

Minerals   India’s Rank 
i) Copper   - 35th  
ii) Phosphate  - 20th  
iii) Coking coal - 4th  
a. i, ii and iii   b. i and ii   c. i and iii   
d. ii and iii   e. Answer not known 
gpd;tUtdtw;Ws; rhpahf nghUe;jpaJ vJ? 
fdpkq;fs;    ,e;jpahtpd; juk; 
i) jhkpuk;   - 35tJ 
ii) gh];Ngl;   - 20tJ 
iii) vhpf;Fk; epyf;fhp  - 4tJ 
a. i, ii kw;Wk; iii  b. i kw;Wk; ii   c. i kw;Wk; iii  
d. ii kw;Wk; iii   e. tpil njhpatpy;iy 

 

39. Which of the following kind of farming practiced in the regions where the size of the 
land holding is very large? 
a. Subsistence Agriculture   b. Intensive Agriculture  c. Extensive farming   
d. Mixed farming    e. Answer not known 
gpd;tUtdtw;Ws; ve;j tifahd Ntshz;ik> epy msT mjpfkhf itj;jpUg;gth;fsplk; 
eilKiwapy; cs;sJ? 
a. jd;dpiwT Ntshz;ik  b. jPtpu Ntshz;ik  c. gue;j Ntshz;ik   
d. fyg;G Ntshz;ik  e. tpil njhpatpy;iy 
 

40. Choose the incorrectly matched pairs 

i) Pomology - Study of crop circles  

ii) Olericulture  - Science of Vegetable growing  

iii) Floriculture  - Cultivation of flowers  

iv) Sericulture  - Rearing of Silkworms  
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a. i and ii   b. i only    c. ii only   
d. none   e. Answer not known 
nghUj;jkw;w ,iziaj; Njh;T nra;f. 
i. Nghkhy[p   - gaph; tl;l Ma;T 
ii. /g;Nshhp fy;r;rh;  - fha;fwp tsh;g;G gw;wpa mwptpay; 
iii. /Nghyhp fy;r;rh;  - G+f;fs; tsh;f;Fk; fiy 
iv. nrhp fy;r;rh;  - gl;Lg;GO tsh;j;jy; 
a. i kw;Wk; ii   b. i kl;Lk;    c. ii kl;Lk;   
d. VJkpy;iy   e. tpil njhpatpy;iy 
 

41. The Indie cultural realm is called as paddy culture by 
a. D. Stamp   b. Baker    c. Weber    
d. Carl Ritter    e. Answer not known 
,e;jpa fyhr;rhuj;ij ney; fyhr;rhuk; vd;W mioj;jth; ahh;? 
a. b. ];lhk;g;   b. Ngf;fh;   c. ntgh;   

d. fhh;y; hpl;lh;  e. tpil njhpatpy;iy 
 

42. Which of the following culture is basically a Buddhist culture with regional 
modifications? 
a. Occidental Realm  b. Indie cultural realm  c. South-East Asian Culture 
d. East Asian Culture e. Answer not known 
gpd;tUk; ve;j ,e;jpa fyhr;rhuk; mbg;gilapy; tl;lhu khw;wq;fSld; ngsj;j 
fyhr;rhuj;ijf; nfhz;Ls;sJ? 
a. Nkiy fyhr;rhu kz;lyk;   b. ,e;jpa fyhr;rhu kz;lyk; 
c. njd;fpof;F Mrpa fyhr;rhu kz;lyk;  d. fpof;F Mrpa fyhr;rhu kz;lyk; 
e. tpil njhpatpy;iy 

 
43. Choose the correct statements about characteristics of Australoid Race? 

i. Visible eye ridge   ii. Short in height   iii. Dark skin stone  
a. i, ii and iii   b. i and ii   c. i and iii   
d. ii and iii   e. Answer not known 
m];l;uyha;L Fwpj;j Fzq;fspy; rhpahdit vJ? 
i. Gyg;glf;$ba GUt KfL  ii. Fiwthd cauk;  iii. fUg;G epwj; Njhy; 
a. i, ii kw;Wk;  iii  b. i kw;Wk; ii   c. i kw;Wk; iii  
d. ii kw;Wk; iii   e. tpil njhpatpy;iy 
 

44. Which of the following race has the smallest limb ratio? 
a. Negroid    b. Caucasoid    c. Mongoloid    
d. Australoid   e. Answer not known 
gpd;tUk; ve;j ,dj;jth; kpfr;rpwa %l;L tpfpjj;ij nfhz;Ls;sdh;? 
a. ePf;uha;L   b. fhfrha;L   c. kq;Nfhyha;L   

d. M];l;uyha;L  e. tpil njhpatpy;iy 
 
45. Which of the following is regarded as the parent of Christianity? 

a. Aminism    b. Judaism    c. Buddhism   
d. Parsi   e. Answer not known 
fpwp];jtj;jpd; jha; kjkhf fUjg;gLfpd;w kjk; vJ? 
a. mkpdprk;   b. A+j kjk;   c. Gj;j kjk;  
d. ghh;rp   e. tpil njhpatpy;iy 
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46. Which of the following tribal group distributed in the Equatorial forest region? 
a. Pigmy   b. Semang    c. Boro   
d. all the above  e. Answer not known 
G+kj;jpa Nuif fhl;Lg; gFjpapy; cs;s goq;Fbapd FOf;fs; gpd;tUgth;fSs; ahh;? 
a. gpf;kPf;fs;    b. nrkhq;   c. NghNuh     
d. Nkw;fz;l midj;Jk; e. tpil njhpatpy;iy 
 

47. The Eskimos are living in the region of  
a. Canadian Northland     b. Greenland 
c. North Eastern Siberian and Coastal Region d. all the above 
e. Answer not known 
v];fpNkhf;fs; fhzg;gLk; gFjpfshtd>  
a. fdlhtpd; tlf;F gFjp     b. fphPd;yhe;J  
c. tlfpof;F irgPhpa flNyhug; gFjp   d. Nkw;fz;l midj;Jk;  

 e. tpil njhpatpy;iy 
 
48. Which of the following country has the largest population of the tribal people in the 

world? 
a. Brazil   b. Canada    c. South Africa    
d. India  e. Answer not known 
gpd;tUdtw;Ws; cyfpy; mjpf vz;zpf;ifapyhd goq;Fbapd kf;fisf; nfhz;l ehL 
vJ?  
a. gpNurpy;   b. fdlh   c. njd; Mg;gphpf;fh   
d. ,e;jpah   e. tpil njhpatpy;iy 

 
49. Which of the following is the most widely distributed tribal group in India? 

a. Gonds   b. Bhils    c. Khasi   
d. Angami  e. Answer not known 
gpd;tUtdtw;Ws;> ,e;jpahtpy; kpfTk; gutyhf fhzg;gLk; goq;Fbapdf; FO vJ?  
a. Nfhd;Lfs;  b. gpy;];fs;   c. fhrp   
d. mq;fhkp   e. tpil njhpatpy;iy 
 

50. Choose the correct statements: 
i) Gonds have been largely influenced by the Hindus and practicing the Hindus 

culture and traditions.  
ii) Santhals are the second largest tribe in India.  
iii) Munda generally means headman of the village. 
a. i, ii and iii   b. i and iii   c. i and ii    
d. ii and iii   e. Answer not known 
rhpahd thf;fpaq;fis Njh;T nra;f.  
i. Nfhd;Lfs; ePz;l fhykhf ,e;J fyhr;rhuk; kw;Wk; kuGfisg; gpd;gw;wp tUfpd;wdh;.  
ii. rhe;jyh;fs; ,e;jpahtpd; ,uz;lhtJ nghpa goq;Fbapdh; Mth;  
iii. Kz;lh vd;why; nghJthf fpuhkj;jpd; jiytd; vd;W nghUs;.  
a. i, ii kw;Wk; iii  b. i kw;Wk; iii   c. i kw;Wk; ii     
d. ii kw;Wk; iii   e. tpil njhpatpy;iy 

 

51. The ‘Munds’ are the settlements of _________ 
a. Badaga   b. Toda    c. Kurumbas   
d. Paliyan  e. Answer not known 
goq;Fbapd kf;fspd; FbapUg;Gfs; "Kz;l;];" vd;W miof;fg;gLfpd;wd.  
a. gLfh;fs;  b. Njhlh;fs;   c. FUk;gh;fs;   
d. ghypahd;   e. tpil njhpatpy;iy 
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52. Which among the following tribes are engaged in tea cultivation and potato growing? 
a. Todas   b. Badagas    c. Kotas    
d. Kurumbas  e. Answer not known 
Njapiy kw;Wk; cUisf;fpoq;F rhFgb nra;J tUk; goq;Fbapd FO vJ?  
a. Njhlh;fs;  b. gLfh;fs;   c. Nfhlh    
d. FUk;gh;fs;  e. tpil njhpatpy;iy 

 
53. Which of the following tribes implement elaborate tattoos for maintaining distance and 

status in society? 
a. Kotas   b. Kurumbas    c. Paliyans    
d. Todas   e. Answer not known 
rKjhaj;jpy; jq;fis NtWgLj;jpf; fhl;Ltjw;fhf ve;j goq;Fbapd kf;fs; nghpa 
mstpy; gr;ir Fj;jpf; nfhs;fpwhh;fs;?  
a. Nfhlhf;fs; b. FUk;gh;fs;   c. ghypahd;    
d. Njhlh;fs;  e. tpil njhpatpy;iy 
 

54. Which of the following tribe play at Badaa funerals? 
a. Todas   b. Kotas   c. Kurumbas    
d. Paliyan  e. Answer not known 
ve;j goq;Fbapdh; glh ,Wjp rlq;fpy; ,irthrpg;gth;?  
a. Njhlh;fs;   b. Nfhlhf;fs;  c. FUk;gh;fs;  
d. ghypahd;   e. tpil njhpatpy;iy 
 

55. The Sustainability was First featured in the principles adopted by the United Nations 
Conference on the Human Environment held at ________ 
a. Rio de Janeiro   b. Stockholm   c. Johannesburg   
d. New York   e. Answer not known 
Ngzj;jFe;j Nkk;ghL vd;w fUj;J Kjd; Kjypy; _______ y; ele;j kdpjd; thOk; 
#oy; vd;w jiyg;gpy; eilngw;w If;fpa ehl;L rig fUj;juq;fpy; Vw;Wf;nfhs;sg;gl;lJ. 
a. hpNah bn[dpNuh  b. ];lhf;N`hy;k;   c. N[hfd;];gh;f; 
 d. epA+ahh;f;   e. tpil njhpatpy;iy 

 
56. Find the length of the longest rope that can be used to measure exactly the ropes of 

length 1m 20cm, 3m 60cm and 4m. 
a. 20 cm   b. 40 cm    c. 60 cm  
d. 80 cm  e. Answer not known 
1 kP 20 nr.kP> 3 kP 60 nr.kP kw;Wk; 4 kP msTfisf; nfhz;l fapWfspd; ePsq;fisr; 
rhpahf msf;fg; gad;gLk; fapw;wpd; mjpfgl;r ePsk; vd;d. 
a. 20 cm   b. 40 cm    c. 60 cm   
d. 80 cm  e. tpil njhpatpy;iy 

 
57. The HCF of two numbers is 144 and their LCM is 2880. If one of the numbers is 720, then 

the other number is  
a. 576    b. 756   c. 675   d. 288  e. Answer not known 
,U vz;fspd; kP.ngh.t. 144 kw;Wk; kP.ngh.k. 2880. xU vz; 720 vdpy; kw;nwhU vz; 
a. 576    b. 756   c. 675   d. 288  e. tpil njhpatpy;iy 

 

58. If the fractions 
4 3 6

, ,
6 8 12

 and 
5

16
 are arranged in ascending order of their values, which 

one will be the fourth? 

a. 
3

8
   b. 

5

16
  c.

6

12
   d. 

4

6
  e. Answer not known 
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4 3 6
, ,

6 8 12
kw;Wk; 

5

16
 Mfpatw;iw VWthpirapy; vOJk; NghJ> ehd;fhtJ vz;  vJ?  

a. 
3

8
   b. 

5

16
  c.

6

12
   d. 

4

6
  e. tpil njhpatpy;iy 

 
59. The greatest number that will divide 62, 78 and 109 leaving remainders 2, 3 and 4 

respectively is  
a.  12  b. 14  c. 15  d. 16  e. Answer not known  
62> 78 kw;Wk; 109-I tFj;J KiwNa 2> 3 kw;Wk; 4-I kPjpfshf nfhLf;Fk; kPg;ngU 
nghJf; fhuzp 
a.  12  b. 14  c. 15  d. 16  e. tpil njhpatpy;iy 

 
60. Find the least number that is divisible by the first ten natural numbers. 

a.2520   b.360   c.210   d.1250  e. Answer not known 
Kjy; 10 ,ay; vz;fshy; kPjpapd;wp tFglf;$ba rpwpa vz; vJ?  
a. 2520  b. 360  c. 210  d. 1250  e. tpil njhpatpy;iy 

 
61. The three fundamental components highlights by the Brundtland commission are 

a. Environment, Equality and Society  
b. Environment, Economy and Safety 
c. Environment, Health and Economy 
d. Environment, Economy and Society 
e. Answer not known 
g;uz;l;yz;l; Mizaj;jpd; Nkk;ghl;bw;fhd %d;W Kf;fpa $Wfis mbf;Nfhbl;Lf; 
fhl;baJ> mitahtd 
a. Rw;Wr;#oy;> rkj;Jtk; kw;Wk; r%fk;  
b. Rw;Wr;#oy;> nghUshjhuk; kw;Wk; ghJfhg;G  
c. Rw;Wr;#oy;> tsk; kw;Wk; nghUshjhuk;  
d. Rw;Wr;#oy;> nghUshjhuk; kw;Wk; r%fk;  
e. tpil njhpatpy;iy 
 

62. Match the following: 
A. Millennium Development Goals  1. 2002 
B. Agenda 21      2. 1992 
C. Johannesburg Conference   3. 2000 
D. Rio +20      4. 2012 
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 4 2 3 1 
d. 3 2 1 4   e. Answer not known 
 nghUj;Jf:  
 A. E}w;whz;L tsh;r;rp ,yf;Ffs;   1. 2002  
  B. Nfhhpf;if 21     2. 1992 
 C. N[hfd;d];guf; nray;jpl;lk;    3. 2000  
  D. hpNah + 20     4. 2012  
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 4 2 3 1 
d. 3 2 1 4  e. tpil njhpatpy;iy 
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63. Which of the following is/are the effects of Global Warming? 
i. Melting of Glaciers   ii. Rise in the level of oceans.  
iii. Prolonged droughts  iv. Excessive Rain 
a. i, iii and v    b. i, iii and iv    c. iii, iv and v    
d. all the above  e. Answer not known 
cyf ntg;gkakhjy; tpisTfs; Fwpj;j $w;Wfspy; rhpahdJ vJ / vit?  
i. gzp cUFjy;    ii. fly; ePh; kl;lk; caUjy;  
iii. mjpf twl;rp    iv. mjpf kio  
a. i, iii kw;Wk; v    b. i, iii kw;Wk; iv    c. iii, iv kw;Wk; v  
 d. ,it midj;Jk;   e. tpil njhpatpy;iy 

 
64. Choose the correct statements: 

i) Freshwater is more similar in composition to our own blood than salt water. 
ii) Ocean water contains far more salt than human blood. 
a. Both I and II   b. I only   c. II only   
d. None   e. Answer not known 
rhpahd thf;fpaq;fis Njh;T nra;f.  
i. cth; ePiutpl ed;dPh; mjpf msT ek; ,uj;jj;ij xj;j fyitahFk;.  
ii. fly; ePhpy; kdpj ,uj;jj;ij tpl mjpf cg;G cs;sJ.  
a. I kw;Wk; II    b. I kl;Lk;   c. II kl;Lk;   
d. vJTkpy;iy   e. tpil njhpatpy;iy 
 

65. Identify the effects of earth’s rotation. 
1. Occurrence of day and night. 
2. Difference in time between different places on the earth. 
3. Occurance of Tides, Deflection of winds and ocean currents 
a. 1, 2  b. 2, 3  c. 1, 2, 3 d. None of these e. Answer not known 
Gtpapd; Row;rpapdhy; Vw;gLk; tpisTfisf; fz;lwpaTk;. 
1. gfy; kw;Wk; ,uT Njhd;Wjy;. 
2. Gtpapd; ntt;NtW gFjpfSf;F ,ilapyhd Neu NtWghL. 
3. miyfs;> fhw;wpd; jpirkhw;wk; kw;Wk; fly; ePNuhl;lq;fs; Njhd;Wjy;. 
a. 1, 2  b. 2, 3  c. 1, 2, 3  d. ,it vJTkpy;iy e. tpil njhpatpy;iy 

 
66. Consider the following statements regarding earthquake. 

I. P and S waves are body waves 
II. P waves pass through all Medium 
III. S waves pass through only solid Medium 
a. I is correct   b. I, II are correct  c. II, III are correct   
d. All are correct  e. Answer not known 
G+fk;gk; njhlu;ghd gpd;tUk; thf;fpaq;fisf; ftdj;jpy; nfhs;f. 
I. P kw;Wk; S ,uz;Lk; cl;Gw miyfs; 
II. P miy midj;J epiyfspYk; fle;J nry;Yk;. 
III. S miy jpl epiyapy; cs;s nghUl;fspd; topNa kl;LNk fle;J nry;Yk;. 
a. I rhp    b. I, II rhp   c. II, III rhp   
d. midj;Jk; rhp  e. tpil njhpatpy;iy 

 
67. Choose the incorrect pair 

I. Mt. Etna – Active volcano 
II. Mt. Vesuvius – Dormant volcano 
III. Mt. Fujiyama – Extinct volcano 
a. I  b. II  c. III  d. all of the above e. Answer not known 
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jtwhd ,iziaj; Njue;njLf;f  
I. vl;dh vupkiy  - nray;gLk; vupkiy 
II. ntRtpa]; vupkiy - cwq;Fk; vupkiy 
III. gpA+[pahkh vupkiy - nraypoe;j vupkiy 
a. I  b. II  c. III d. Nkw;fz;l midj;Jk; e. tpil njhpatpy;iy 

 
68. Choose the incorrect pair 

a. Granite - Igneous rock 
b. Shale – Sedimentary rock 
c. Marble – Metamorphic rock 
d. Anthracite – Sedimentary rock 
e. Answer not known 
jtwhd ,iziaj; Nju;;e;njLf. 
a. fpuhidl;  - jPg;ghiw 
b. khf;fy;  - gbTg;ghiw 
c. ryitf;fy; - cUkhwpa ghiw 
d. Me;jpuirl; - gbTg;ghiw 
e. tpil njhpatpy;iy 

 
69. Which of the following are depositional landforms of Glaciers? 

I. Moraines  II. Outwash plain  III. Esker 
IV. Drumlins  V. Kames 
a. I, II, III   b. I, III, IV   c. I, II, III, IV  
d. all of the above  e. Answer not known 
gpd;tUtdtw;wpy; gdpg;ghiwfspd; gbT epyj;Njhw;wq;fs; vit? 
I. nkhiud;fs;  II. gdpahw;W tz;ly; rkntsp  III. v];fu;fs; 
IV. buk;spd;fs; V. Nfk;]; 
a. I, II, III   b. I, III, IV   c. I, II, III, IV  
d. Nkw;fz;l midj;Jk; e. tpil njhpatpy;iy 
 

70. Landforms produced by the action of Groundwater is called as ____ 
a. Karst Topography   b. Glaciers   c. Moraines   
d. None of these   e. Answer not known 
epyj;jb ePupd; nrayhy; cUthf;fg;gLk; epyj;Njhw;wq;fs; ____ vd miof;fg;gLfpd;wd. 
a. Rz;zhk;G epyg;gpuNjrk;   b. gdpg;ghiw epyj;Njhw;wk;     c. nkhiud;fs;  
d. NkNy Fwpg;gpl;l vJTk; ,y;iy e. tpil njhpatpy;iy 
 

71. Which of the following are the erosional landforms of waves? 
I. Sea cliff  II. Arch   III. The stack 
IV. Stump  V. The Bar 
a. I, II    b. I, II, III   c. I, II, III, IV  
d. all of the above  e. Answer not known 
fPNo Fwpg;gpl;Ls;s vit fly; miyfspd; mupg;gpdhy; cz;lhFk; epyj;Njhw;wq;fshFk;  
I. ghiw fly; Xq;fy; II. tisTfs;   III. J}z;fs; 
IV. vQ;rpa ghiw  V. kzw;jpl;Lfs; 
a. I, II    b. I, II, III   c. I, II, III, IV 
d. Nkw;fz;l midj;Jk; e. tpil njhpatpy;iy 

 
72. Consider the following statements 

I) Waves prevent siltation of harbours. 
II) Gulf of Kutch, Gulf of Khambhat and Sunderbans have scope for tidal energy. 
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a. I alone is correct  b. II alone is correct   c. Both are correct   
d. Both are wrong  e. Answer not known 
nfhLf;fg;gl;Ls;s thf;fpaq;fis ftdj;jpy; nfhs;f. 
I. MWfshy; gba itf;fg;gLk; tz;ly; gbTfis ePf;fp JiwKfj;ijg; ghJfhf;f 

miyfs; cjTfpwJ. 
II. fhk;Ng tisFlh fl;r; tisFlh kw;Wk; Re;ju tdg;gFjp Nghd;wit Xj 

Mw;wiy cw;gj;jp nra;tjw;fhd tha;g;igf; nfhz;Ls;s. 
a. I kl;Lk; rup  b. II kl;Lk; rup   c. ,uz;Lk; rup   
d. ,uz;Lk; jtW  e. tpil njhpatpy;iy 
 

73. Ocean currents movement is due to ____ 
I. Earth’s rotation   II. Salinity of ocean 
III. Density of ocean water  IV. Air pressure and winds 
a. I    b. I, II     c. I, II, III  
d. All of the above  e. Answer not known 
fly; ePNuhl;lq;fs; vjdhy; cUthfpwJ. 
I. Gtpr; Row;rp    II. fly; ePupd; ctu;g;gpak;. 
III. fly; ePupd; mlu;j;jp  IV. fhw;wpd; mOj;jk; kw;Wk; fhw;W 
a. I    b. I, II     c. I, II, III   
d. Nkw;fz;l mizj;Jk; e. tpil njhpatpy;iy 

 
74. Choose the correct pair 

I) Agulhas current  - warm current 
II) Benguela current  - cold current 
III) Brazil current  - cold current 
a. I alone   b. I, II    c. III alone   
d. all of the above  e. Answer not known 
rupahd ,iziaj; Nju;e;njLf;f 
I. mFfh]; ePNuhl;lk; - ntg;g ePNuhl;lk; 
II. ngq;Fyh ePNuhl;lk; - Fspu; ePNuhl;lk; 
III. gpNurpy; ePNuhl;lk;  - Fspu; ePNuhl;lk; 
a. I kl;Lk;   b. I, II    c. III kl;Lk;   
d. Nkw;fz;l midj;Jk; e. tpil njhpatpy;iy 
 

75. Meteors are burnt out in ____ layer. 
a. Mesosphere  b. Thermosphere   c. Exosphere    
d. Tropopause  e. Answer not known 
tpz;fw;fs; _____ mLf;fpy; tpOe;J vupfpd;wd. 
a. ,ilaLf;F  b. ntg;g mLf;F   c. ntspaLf;F   
d. mbtspKid  e. tpil njhpatpy;iy 

 

76. Choose incorrect pair about local winds 
a. Bora – North Eastern Italy 
b. Chinook – Rocky Mountains 
c. Fohn – Northern Side of Alps 
d. Harmattan – Central America 
e. Answer not known 
jyf;fhw;NwhL njhlu;Gila jtwhd ,iziaj; Nju;e;njLf. 
a. Nghuh  - tlfpof;F ,j;jhyp 
b. rpD}f;  - uhf;fp kiyj;njhlu; 
c. /ghd;  - My;g;rpd; tlf;F gFjp 
d. `u;khl;ld; - kj;jpa mnkupf;fh 
e. tpil njhpatpy;iy 
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77. Frontal system of airmass cannot be seen in ____ 
a. Equator      b. Sub polar low-pressure belt 
c. When warm and cold airmass meet d. None of these 
e. Answer not known 
tspKf fhw;W epiwahdJ vq;F fhzg;glhJ? 
a. G+kj;jpa Nuifg; gFjp 
b. Jiz JUt jho;tOj;jg; gl;ilfs; 
c. ntg;g kw;Wk; Fspu; tspKfq;fs; re;jpf;Fk; NghJ 
d. ,tw;Ws; vJTkpy;iy 
e. tpil njhpatpy;iy 

 
78. The mega ecosystem operating over large areas are called as _____. 

a. Biomes    b. Wetlands   c. Ecosphere  
d. none of these   e. Answer not known 
____ kpfg; ngupa gug;gstpy; nray;gLk; #o;epiy kz;lykhf cs;sd. 
a. capupd #o;tho;tplq;fs; b. <uepyq;fs;   c. #oy; kz;lyk;  
d. ,it VJkpy;iy   e. tpil njhpatpy;iy 
 

79. How many Bio-diversity hotspots are there in the world at present? 
a. 32  b. 33  c. 34  d. 35  e. Answer not known 
cyfj;jpy; jw;NghJ vj;jid capupdg; gd;ik ts ikaq;fs; ,Uf;fpd;wd? 
a. 32  b. 33  c. 34  d. 35  e. tpil njhpatpy;iy 

 
80. Khangchendzonga National park is a _____ 

a. Natural World Heritage site  b. Cultural World Heritage site 
c. Mixed World Heritage site  d. None of these 
e. Answer not known 
fQ;rd;Rq;fh Njrpa G+q;fh xU _____. 
a. ,aw;ifahd cyf ghuk;gupa ,lk; b. fyhr;rhu cyf ghuk;gupa ,lk; 
c. fyg;G cyf ghuk;gupa ,lk;  d. ,tw;wpy; vJTk; ,y;iy 
e. tpil njhpatpy;iy 

 
81. The most seismically and volcanically active zone in the world. 

a. Mid – Continental Belts   b. Mid – Oceanic Ridges 
c. Pacific Ring of fire   d. All of the above 
e. Answer not known 
cyfpd; mjpf vhpkiy ntbg;GfSk;> epy mjph;TfSk; epfOk; jPtpu kz;lyk; vJ?  
a. kj;jpa fz;ljl;L kz;lyk;  b. kj;jpa flyb kiyj; njhlh; kz;lyk;  
c. gRgpf; neUg;G tisak;   d. Nkw;fz;l vJTkpy;iy  
e. tpil njhpatpy;iy 

 
82. Which is not the erosional landform of wind. 

a. Mushroom Rock  b. Inselberg   c. Yardang     
d. Barchan   e. Answer not known 
gpd;tUtdtw;wpy; fhw;wpd; gbaitj;jyhy; cUthFk; epyk; ,y;yhjJ 
a. fhshd; ghiw   b. ,d;ry;gh;f;   c. ahh;lhq;     
d. gh;fhd;    e. tpil njhpatpy;iy 

 
83. Arrange the following atmospheric gases in descending order. 

1. Nitrogen   2. Argoan  3. Ozone 
4. Oxygen   5. Co2   6. Neon 
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a. 1, 4, 2, 5, 6, 3  b. 1, 2, 4, 6, 5, 3  c. 3, 5, 6, 4, 2, 1    
d. 1, 2, 3, 7, 5, 6   e. Answer not known 
gpd;tUk; tspkz;ly thAf;fis ,wq;F thpirg;gLj;Jf.  
1. iel;u[d;   2. Mh;fhd;  3. XNrhd;  
4. Mf;]p[d;  5. CO2  6. epahd;  
a. 1, 4, 2, 5, 6, 3  b. 1, 2, 4, 6, 5, 3  c. 3, 5, 6, 4, 2, 1     
d. 1, 2, 3, 7, 5, 6   e. tpil njhpatpy;iy 

 
84. Find the correct pair? 

Instruments   Used for 
a. Barometer  - Measuring Pressure 
b. Anemometer - Wind speed 
c. Wind Vane  - Direction of the wind 
d. All of the above 
e. Answer not known 
rhpahd ,iziaf; fz;Lgpb.  
a. gNuhkPl;lh;  - mOj;jk;  
b. mdpNkhkPl;lh; - fhw;wpd; Ntfk;  
c. tpd;l;Ntd;  - fhw;wpd; jpir  
d. Nkw;fz;l midj;Jk;  
e. tpil njhpatpy;iy 

 
85. ITCZ Inter-Tropical Convergence zone is located in 

a. Polar region  b. Temperate region  c. Equatorial region   
d. all of the above  e. Answer not known 
ITCZ gFjp Gtpapd; vg;gFjpaapy; mike;Js;sJ?  
a. JUt gFjp   b. kpj ntg;g kz;ly gFjp  c. G+kj;jpa Nuif gFjp  
d. Nkw;fz;l midj;Jk;  e. tpil njhpatpy;iy 

 
86. Find the LCM of the polynomials (x4-1) and (x2 -2x +1). 

a. (x+1)2 (x2+1)(x-1)  b. (x2 -1) (x-1)2  (x+1) c. (x2 +1) (x-1)2  (x+1) 
d. (x2 +1) (x2 -1)(x-1)2 e. Answer not known 
(x4-1), (x2 -2x +1) Mfpa gy;YWg;Gf; Nfhitfspd; kP.rp.k. fhz;f. 
a. (x+1)2 (x2+1)(x-1)  b. (x2 -1) (x-1)2  (x+1) c. (x2 +1) (x-1)2  (x+1) 
d. (x2 +1) (x2 -1)(x-1)2 e. tpil njhpatpy;iy 

 
87. The HCF of 513, 1134 and 1215 is 

a. 27   b. 81   c.243   d. 3  e. Answer not known 
513,1134 kw;Wk; 1215-d; kPg;ngU nghJf; fhuzpia fhz;f. 
a. 27   b. 81   c.243   d. 3  e. tpil njhpatpy;iy 

 
88. What is the smallest 5 digit number that is exactly divisible by 72 and 108? 

a. 10072  b. 10216    c. 10152   
d. 10108  e. Answer not known 
72 kw;Wk; 108 Mfpa vz;fshy; rhpahf tFglf;$ba kpfr;rpwpa 5 ,yf;f vz;  
a. 10072  b. 10216    c. 10152   
d. 10108  e. tpil njhpatpy;;iy  

 
89. Find the greatest common divisor of 25bc4 d3, 35b2 c5, 45c3 d 

a. 25bcd  b. 25b2c5d3    c. 5 b2c5d3    
d. 5c3   e. Answer not known 
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kP.ngh.t fhz;f. 25bc4 d3,  35b2 c5 , 45c3 d 
a. 25bcd  b. 25b2c5d3    c. 5 b2c5d3    
d. 5c3   e. tpil njhpatpy;iy 

 
90. The L.C.M. of two co-prime numbers is 5005. If one of the numbers is 65, then find the 

other number 
a. 65  b. 66  c. 1  d. 77  e. Answer not known 
,U rhh; gfh vz;fspd; kP.rp.k. 5005. mtw;Ws; Xh; vz; 65 vdpy;> kw;Nwhh; vz; vd;d? 
a. 65  b. 66  c. 1  d. 77  e. tpil njhpatpy;iy 

 
91. Ferrel’s law is related? 

a. Rainfall direction  b. Deflection of wind  c. Weather Pattern   
d. Climatic divisions e. Answer not known 
/nguy; tpjp vjDld; njhlh;GilaJ?  
a. kiog;nghoptpd; jpir  b. fhw;W tpyfyilAk; tpjp  c. thdpiy Kiw    
d. fhyepiy gphpTfs;  e. tpil njhpatpy;iy  
 

92. On what basis Immanuel Kant proposed his hypothesis on origin of earth? 
a. Nova hypothesis   b. Tidal theories 
c. Newton’s law of Gravitation d. Binary star hypothesis 
e. Answer not known 
vjd; mbg;gilapy; ,khDNty; fhz;l; jdJ Gtp cUthf;ff; nfhs;ifia 
Kd;nkhope;jhh;? 
a. Nehth nfhs;if   b. miyf; nfhs;iffs; 
c. epA+l;ldpd; <h;g;G tpjp  d. ,ul;il el;rj;jpuf; nfhs;if 
e. tpil njhpatpy;iy 
 

93. Match List - I (Planet) with List - II (Moon):  
 List - I                             List – II 

A. Jupiter                     1. Triton 
B. Saturn                        2. Miranda 
C. Uranus                      3. Europa 
D. Neptune                    4. Titan 

A B C D 
a. 3  2 4        1 
b.  1 3 2         4 
c. 3 4 2        1 
d. 4 3 1        2 
e. Answer not known 
gl;bay; - I (Nfhs;) gl;bay; - II (epyh) cld; nghUj;Jf: 
  gl;bay; I    gl;bay; II 
A. tpahod;   1. l;iulhd;  
B. rdp    2. kpuhz;lh 
C. ANud];   3. ANuhg;gh  
D. neg;bA+d;   4. illhd;  
 A B C D 
a.  3 2 4 1  
b. 1 3 2 4  
c. 3 4 2 1  
d. 4 3 1 2 
e. tpil njhpatpy;iy  
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94. Solar eclipse occur when the  
a. Sun is in between moon and earth    
b. Moon is in between sun and earth    
c. Earth is in between moon and sun    
d. Earth, Sun and Moon are in a curvilinear position 
e. Answer not known 
#hpa fpu`dk; ,e;epiyapy; Vw;gLfpwJ. 
a. re;jpuDf;Fk;> Gtpf;Fk; ,ilapy; #hpad; fhzg;gLk; NghJ    
b. #hpaDf;Fk;> Gtpf;Fk; ,ilapy; re;jpud; fhzg;gLk; NghJ   
c. #hpaDf;Fk;> re;jpuDf;Fk; ,ilapy; Gtp fhzg;gLk; NghJ   
d. Gtp> #hpad; kw;Wk; re;jpud; tisNfhl;L mikg;gpy; cs;sNghJ 
e. tpil njhpatpy;iy 

 
95. Which one of the following planets has no satellite? 

a. Venus  b. Mars   c. Jupiter   
d. Uranus  e. Answer not known 
fPo;fz;ltw;Ws; Jizf; Nfhs; ,y;yhj fpufk; vJ? 

a. nts;sp  b. nrt;tha;   c. tpahod;   
d. ANud];  e. tpil njhpatpy;iy 

 
96. Match the following and choose the correct answer: 

Pressure belts    Temperature and moisture  
A. Equatorial low pressure belt   1. Hot and dry 
B. Sub-tropical high pressure belt   2. Hot and wet  
C. Sub-polar low pressure belt   3. Cold and dry  
D. Polar high pressure belt   4. Cold and wet  
 A B C D 
a. 2 1 3 4  
b. 1 2 4 3  
c. 2 1 4 3  
d. 4 2 1 3 
e. Answer not known 
fPo;f;fz;ltw;iw nghUj;jp rhpahd tpiliaj; Njh;e;njL: 
tspmOj;j kz;lyq;fs;    ntg;gKk; <ug;gjKk;  
A. G+kj;jpaNuif jho;tOj;j kz;lyk; 1. kpFe;jntg;gKk; twl;rpAk; cilaJ  
B. cg mad cah; mOj;j kz;lyk; 2. kpFe;jntg;gKk; <ug;gjKk; cilaJ  
C. cg JUt jho;tOj;j kz;lyk; 3. kpff; FspUk; twl;rpAk; cilaJ 
D. JUtcah;tOj;j kz;lyk;  4. FspUk; <ug;gjKk; cilaJ 
 A B C D 
a. 2 1 3 4  
b. 1 2 4 3  
c. 2 1 4 3  
d. 4 2 1 3 
e. tpil njhpatpy;iy 

 
97. The theory of sea – floor spreading was formulated by  

a. Alfred Wegner  b. W.M.Davis   c.Prof.Harry Hess     
d. Arthur Holmes  e. Answer not known 
‘fly; jsgug;G guTjy;’ vd;w Nfhl;ghl;il tbtikj;jth; 
a. My;gpnul; nt[;[pdh;  b. W.M.NltP];   c. Prof.`hhpn`];   
d. Mh;jh; N`hk;];  e. tpil njhpatpy;iy 
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98. Match List I with List II and select the correct answer using the codes given below : 
List I      List II 
Cyclones   Countries 
A. Baguio   1. Australia 
B. Typhoons   2. Japan  
C. Willy Willis  3. Philippines 
D. Taifu   4. China 
 A B C D 
a. 3 4 1 2 
b. 4 2 3 1 
c. 2 4 1 3 
d. 1 2 4 3  e. Answer not known 
gl;bay; I-cld; gl;bay; II-Ig; nghUj;Jf.  
gl;bay; I   gl;bay; II 
#whtsp   ehLfs;  
A. Ngf;fpNah   1. M];jpNuypah 
B. ilg;G+d;   2. [g;ghd;  
C. tpy;yptpy;yp];  3. gpypg;igd;]; 
D. ilg;G+   4. rPdh 

A B C D 
a. 3 4 1 2 
b. 4 2 3 1 
c. 2 4 1 3 
d. 1 2 4 3  e. tpil njhpatpy;iy 

 
99. Match List I with List II: 

List I     List II 
Multi purpose projects  Rivers 
A. Bhaghra –Nangal  1. Mahanadhi    
B. Gandak    2. Sutlej    
C. Nagarjuna Sagar   3. Gandaki    
D. Hirakud    4. Krishna  

A B C D 
a. 2 3 4 1   
b. 1 3 4 2  
c. 3 1 2 4   
d. 4 2 1 3  e. Answer not known 
gl;bay; I-I gl;bay; II cld; nghUj;jTk; 
gl;bay; I     gl;bay; II 
(gy;Nehf;F jpl;lq;fs;)  (MWfs;) 
A. gf;uh-eq;fy;   1. kfhejp    

B. fhd;lhf;    2. rl;ny[;    
C. ehfhh;[Pdh rhfh;   3. fhd;lhfp    
D. `puhFl;    4. fpU~;zh 

A B C D 
a. 2 3 4 1   
b. 1 3 4 2   
c. 3 1 2 4  
d. 4 2 1 3  e. tpil njhpatpy;iy 
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100. Match List I with List II and select the correct answer using the codes given below. 
List I    List II  
River       City 
A. Brahmaputra  1. Kota 
B. Chambal   2. Ujjaini 
C. Shipra   3. Dibrugarh 
D. Gomati   4. Lucknow 

A B C D 
a. 1 3 4 2 
b. 3 1 2 4 
c. 1 4 3 2 
d. 3 2 1 4  e. Answer not known 
gl;bay; I-I gl;bay; II-cld; nghUj;Jf 
gl;bay; I     gl;bay; II 
MW     efuk; 
A. gpuk;kGj;uh   1. Nfhl;lh 
B.   rk;gy;   2. c[;[apdp 
C. rpg;uh   3. jpg;&fhh; 
D. Nfhkjp   4. yf;Ndh 

A B C D 
a. 1 3 4 2 
b. 3 1 2 4 
c. 1 4 3 2 
d. 3 2 1 4  e. tpil njhpatpy;iy 

 
101. Aliabet oil field of India is located in  

a. Gulf of Kutch   b. Gulf of Khambhat   c. Vadodara   
d. Surat   e. Answer not known 
,e;jpahtpd; ‘mypahgl; vz;nza; tay;;’ mike;Js;s ,lk; 
a. fl;r; tisFlh  b. fhk;Ng tisFlh   c. tNjhjuh   
d. #uj;   e. tpil njhpatpy;iy 

 
102. Which of the following soil is developed under the tropical monsoon climate? 

a. Laterite soil  b. Regur soil   c. Red Soil   
d. Alluvial Soil  e. Answer not known 
fPo;fhZk; tiffspy; ve;j kz; mad kz;ly gUt fhyepiyapy; cUthfpd;wJ? 
a. JUf;fy; kz;  b. fhpry; kz;  c. nrk;kz;    
d. tz;ly; kz;  e. tpil njhpatpy;iy 

 
103. Which one of the following is correctly matched? 

a. Sornavari   - Chitthirai pattam    
b. Samba   - Karthigai Pattam    
c. Navarai   -  Adi Pattam    
d. Zaid   -  Avani Pattam 
e. Answer not known 
gpd;tUtdtw;Ws; vJ rhpahf nghUe;jpAs;sJ? 
a. nrhh;zthhp   -  rpj;jpiu gl;lk; 
b. rk;gh   -  fhh;j;jpif gl;lk; 
c. etiu   -  Mbg; gl;lk; 
d. iraJ   -  Mtzp gl;lk; 
e. tpil njhpatpy;iy 
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104. Pick up the correct matched answer : 
Temperate Grassland Biomes 
 List A    List B 
A. North America   1. Steppes 
B. Eurasia    2. Velds 
C. Argentina    3. The plains  
D. Africa     4. Pampas  
 A B C D 
a. 1 3 2 4 
b. 2 4 1 2 
c. 3 1 4 2  
d. 2 4 1 3  e. Answer not known 
rhpahf nghUj;jg;gl;Ls;s tpilia Njh;e;njL: 
kpjntg;g kz;ly Gy;ntsp #o;thoplq;fs;  
gl;bay; A   gl;bay; B 
A. tl mnkhpf;fh   1. ];nlg;gp 
B. ANu~pah   2. nty;L  
C. mh;[d;bdh   3. nghpa rkntsp  
D. Mg;gphpf;fh   4. ghk;gh];  
 A B C D 
a. 1 3 2 4 
b. 2 4 1 2 
c. 3 1 4 2  
d. 2 4 1 3  e. tpil njhpatpy;iy 

 
105. The region where ground water is most efficiently recharged is  

a. Dense forest   b. Grass land    c. Deserts   
d. Agriculture lands  e. Answer not known 
epyj;jb ePh; mjpf mstpy; Nrfhpf;fg;gLk; gFjp  
a. mlh;e;j fhLfs;  b. Gy;ntspfs;   c. ghiytdq;fs;   
d. tptrha epyq;fs;  e. tpil njhpatpy;iy 

 
106. Match the following: 

List I     List II 
State    National Park / Sanctuary 
A. Gujarat    1. Bandipur 
B. Uttarkhand  2.Manas 
C. Assam    3. Corbett 
D. Karnataka   4. Gir 
 a b c d 
a. 1 2 3 4  
b. 2 1 4 3  
c. 4 3 1 2  
d. 4 3 2 1  e. Answer not known 
nghUj;Jf: 
gl;bay; I   gl;bay; II 
khepyk;    Njrpag;G+q;fh / ruzhyak;  
A. F[uhj;    1. gj;jpg;G+h; 
B. cj;jpufz;l;  2. khdh]; 
C. m];]hk;   3. fhh;ngl; 
D. fh;ehlfh   4. fph;  
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A B C D 
a. 1 2 3 4  
b. 2 1 4 3  
c. 4 3 1 2  
d. 4 3 2 1  e. tpil njhpatpy;iy  

 
107. Match the following with their established year and choose the correct option. 

A. Chittaranjan Locomotive Works 1.  1986 
B. Rail Coach Factory   2.  1984 
C. Integral Coach Factory   3.  1947 
D. Rail Wheel Factory   4.  1952 
 A B C D  
a. 2 3 1 4 
b. 3 1 4 2  
c. 3 4 1 2  
d.        2         1 4 3  e. Answer not known 
fPo;tUk; epWtdq;fis mJ epWtg;gl;l Mz;Lld; nghUj;Jf 
A. rpj;juQ;rd; uapy; ngl;bnjhopw;rhiy  1. 1986 
B. uapy; ngl;bnjhopw;rhiy    2. 1984 
C. xUq;fpize;j ngl;bnjhopw;rhiy  3. 1947 
D. uapy; rf;funjhopw;rhiy    4. 1952 
 A B C D  
a. 2 3 1 4 
b. 3 1 4 2  
c. 3 4 1 2  
d.       2         1 4 3   e. tpil njhpatpy;iy 

 
108. Match the disasters with its type and pick the correct answers code  

A. Blizzards                           1. Hydrological disaster 
B. Tsunamis                          2. Health disaster 
C. Nuclear accidents            3. Atmospheric disaster 
D. Pandemic                         4. Anthropogenic disaster 
 A         B C  D 
a. 2          1          4          3 
b.      2          3          4          1 
c.      3          1          2          4           
d.  3 1 4 2 
e. Answer not known 
gpd;tUk; Nghplh;g;ghLfis mjd; tifg;ghl;NlhL nghUj;jp tpil fhz;f. 
A. gdpg; Gay;   1. ePhpay; NguopT 
B. Mopg; Nguiy  2. Rfhjhu NguopT 

C. mZ tpgj;J  3. tspkz;ly NguopT 
D. njhw;W Neha;  4. khDl NguopT 
 A         B C  D 
a. 2          1          4          3 
b.      2          3          4          1 
c.      3          1          2          4           
d.  3 1 4 2 
e. tpil njhpatpy;iy 
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109. Match the following: 
 List 1     L ist 2 
 A. Trade winds   1. Seasonal wind 
 B. Loo     2. Horizontal movement of Air 
 C. Monsoon    3. Permanent wind 
 D. Wind    4. Local wind  
  A B C D 
 a. 3 4 2 1 
 b. 1 3 4 2 
 c. 2 4 3 1 
 d. 3 4 1 2 

e. Answer not known 
 nghUj;Jf 
 gl;bay; 1    gl;bay; 2 
 A. tpahghuf; fhw;Wfs;  1. gUtf; fhw;W 
 B. Y}     2. fhw;wpd; fpilkl;lefh;T 
 C. khd;#d;    3. epue;juf; fhw;W 
 D. fhw;W    4. jyf;fhw;W 
  A B C D 
 a. 3 4 2 1 
 b. 1 3 4 2 
 c. 2 4 3 1 
 d. 3 4 1 2 

e. tpil njhpatpy;iy 
 
110. The clouds over Antarctica is called as ‘Mother of Pearls’ due to their 

a. Shape  b. Size    c. Height   
d. Colour  e. Answer not known 
mz;lhh;bfh kPJ fhzg;gLfpd;w Nkfk; ‘Kj;Jf;fspd; jha;’ vd miof;fg; gLtjd; 
fhuzk; mjd;  
a. cUtk;  b. msT   c. cauk;   
d. epwk;  e. tpil njhpatpy;iy 

 
111. Which of the following is considered as ‘hot spot biodiversity’ in India? 

a. Aravalli Hills  b. Western Ghats   c. Indo - Gangetic Plain  
d. Eastern Ghats  e. Answer not known 
gpd;tUtdtw;Ws; vit“,e;jpahtpd; caphpakpifg; gy;tifik” ,lkhFk;? 
a. Muty;yp kiy  b. Nkw;F njhlh;r;rpkiy c. ,d;Nlh – fhd;n[l;bf; rkntsp  
d. fpof;F njhlh;r;rpkiy e. tpil njhpatpy;iy 

 
112. Suppose a planet went around the sun twice as fast as earth. What would be its orbital 

size as compared to that of the earth? 
a. 63% that of the earth b. 53% that of the earth  c. 43% that of the earth  
d. 33% that of the earth e. Answer not known 
XU Nfhs; G+kpia tpl ,Uklq;F Ntfkhf #hpaid Rw;Wtjhf Gidthff; nfhs;. 
Mjd; Nfhsg;ghij msT G+kpapd; Nfhsg;ghij msTld; xg;gpLk; NghJ vd;dthf 
,Uf;Fk;?  
a. 63% G+kpapd; Nfhsg;ghij msT  b. 53% G+kpapd; Nfhsg;ghij msT  
c. 43% G+kpapd; Nfhsg;ghij msT d. 33% G+kpapd; Nfhsg;ghij msT  
e. tpil njhpatpy;iy 
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113. Average temperature of the earth is about  
a. 570 F  b. 610 F   c. 470 F   
d. 370 F  e. Answer not known 
Gtpapd; ruhrhp ntg;gepiyahdJ Rkhh; _______ MFk;.  
a. 570 F  b. 610 F   c. 470 F   
d. 370 F  e. tpil njhpatpy;iy 

 
114. ‘Sea smoke’ is common in 

a. Equatorial region  b. Desert region  c. Atlantic ocean   
d. Arctic region  e. Answer not known 
‘fly; Gif’ rhjhuzkhf fhzg;gLtJ 
a. g+kj;jpa Nuif gFjp b. ghiytd gpuNjrk; c. ml;yhz;bf; Nguhop   
d. Mh;bf; gFjp  e. tpil njhpatpy;iy 

 
115. Which of the following statement is not correct regarding Igneous rocks? 

a. Igneous rocks are generally hard   
b. Igneous rocks do not have strata 
c. Igneous rocks contain fossils  
d. Igneous rocks are mostly associated with the volcanic activities  
e. Answer not known 
gpd;tUtdtw;Ws; jPg;ghiw Fwpj;j $w;Wf;fspy; vJ rhpahdJ ,y;iy?  
a. jPg;ghiwfs; nghJthf fbdkhdJ 
b. jPg;ghiwfs; mLf;Ffis nfhz;bUg;gjpy;iy  
c. jPg;ghiwfs; njhy;gbkq;fis nfhz;bUf;Fk;  
d. jPg;ghiwfs; ngUk;ghYk; vhpkiy nray;ghNlhL njhlh;Gs;sit 
e. tpil njhpatpy;iy 

 
116. Find the ratio of L.C.M and H.C.F of the two numbers 24 and 56.  

a. 1 : 11   b. 21 : 1    c. 13 : 15    
d. 17 : 19  e. Answer not known 
24 kw;Wk; 56 Mfpa vz;fspd; kP.rp.k kw;Wk; kP.ng.fh. tpd; tpfpjj;ijf; fhz;f.  
a. 1 : 11   b. 21 : 1    c. 13 : 15    
d. 17 : 19  e. tpil njhpatpy;iy 

 

117. If the H.C.F of 65 and 117 is expressible in the form of 65m – 117, then the value of m is 
a. 4   b. 2    c. 1   d. 3  e. Answer not known 
65 kw;Wk; 117-apd; kP.ngh.t-it 65m-117 vd;w tbtpy; vOJk;NghJ> m-apd; kjpg;G 
a. 4   b. 2    c. 1   d. 3  e. tpil njhpatpy;iy   

 

118. Find the GCD of am+1 am+2 am+3 
a. am   b. am+1  c. am+3  d. am+6  e. Answer not known 
kP.ngh.t fhz;f. am+1 am+2 am+3 

a. am   b. am+1  c. am+3  d. am+6  e. tpil njhpatpy;iy 

 

119. L.C.M. of 
2 4 5 7

, , ,
3 9 6 12

 is  

a. 
1
18   b. 

1
36   c. 

35
9   d.

140
3  e. Answer not known 

2 4 5 7
, , ,

3 9 6 12
Mfpatw;wpd; kPr;rpW nghJklq;F  

a. 1
18

  b. 1
36

  c. 35
9

  d.140
3

 e. tpil njhpatpy;iy  
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120. If H.C.F of p and q is x and q = xy, find the L.C.M of p and q form the following 
a. pq  b. qy  c. xy  d. py   e. Answer not known  
p kw;Wk; q-d; kPg;ngU nghJ tFj;jp x kw;Wk; q = xy vdpy;> p kw;Wk; q-d; kPr;rpW nghJ 
klq;if fPNoAs;stw;wpypUe;J fhz;f. 
a. pq  b. qy  c. xy  d. py   e. tpil njhpatpy;iy  

 
121. The thermal concept of the origin of Asiatic monsoon was propounded by  

a. Hailey  b. Flohn    c. Anget Hann  
d. Miller  e. Answer not known 
Mrpahtpd; gUtfhw;W Njhw;wj;jpd; ntg;g Nfhl;ghl;il Kd;nkhope;jth;  
a. n`a;yp  b. /g;Nshd;   c. vd;n[l;`hd;  
d. kpy;yh;   e. tpil njhpatpy;iy 

 
122. Which of the following river does not originate in India? 

a. Beas  b. Sutlej   c. Ravi   
d. Chenab  e. Answer not known 
fPo;f;fz;ltw;Ws; ,e;jpahtpy; cw;gj;jp Mfhj MW vJ? 
a. gpah];  b. rl;y[;   c. uhtp   
d. nrdhg;  e. tpil njhpatpy;iy 

 
123. Bhakra – National project is 

a. A project of Punjab   
b. A joint venture of Punjab & Haryana           
c. A joint venture of Punjab, Haryana & Himachal pradesh          
d. A joint venture of Punjab, Haryana & Rajasthan 
e. Answer not known 
gf;uh eq;fy; jpl;lkhdJ 
a. xU gQ;rhg; khepy jpl;lk;  

b. xU gQ;rhg; kw;Wk; `hpahdh khepy $l;L jpl;lk;  
c. xU gQ;rhg; `hpahdh kw;Wk; ,khr;ry gpuNjr khepy $l;L jpl;lk;  
d. xU gQ;rhg;> `hpahdh kw;Wk; uh[];jhd; khepy $l;L jpl;lk;  
e. tpil njhpatpy;iy 

 

124. Pedogenesis refers to  
a. Soil sedimentation process  b. Soil forming process  c. Weathering process   
d. Eutrophication    e. Answer not known 
gPNlhn[dp]p];; vijf; Fwpg;gpLfpwJ? 
a. tz;ly; gbtJ   b. kz; cUthtJ  c. rpijAk; epfo;T   
d. E}h;e;Jg; Nghjy;   e. tpil njhpatpy;iy 

 

125. Consider the following statement, choose the correct answer using codes given below : 
i. India contributes about 60% of the mica in the world. 
ii. Major mica producing' states of India are Andhra Pradesh, Jharkand, Bihar and 

Rajasthan. 
a. (i) only correct    b. (i) and (ii) are correct  c. (ii) only correct       
d. both (i) and (ii) are wrong e. Answer not known 
gpd;tUk; $w;Wfis fUj;jpy; nfhz;L rhpahd FwpaPl;bid Njh;T nra;f.  
i. cyfpy; ikf;fh cw;gj;jpapy; ,e;jpah 60 rjtPjk; gq;fspf;fpwJ 
ii. Me;jpug; gpuNjrk;> [hh;fz;l;> gPfhh; kw;Wk; uh[];jhd; Mfpait ikf;fh cw;gj;jp 

nra;Ak; khepyq;fs; MFk;  
a. i l;Lk; rhp    b. i kw;Wk; iik; rhp   c. ii kl;Lk; rhp    
d. i kw;Wk; ii k; jtW   e. tpil njhpatpy;iy 
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126. Vansda National Park is located in 
a. Assam  b. Uttar Pradesh  c. Gujarat   
d. Bihar  e. Answer not known 
td;];lh Njrpa G+q;fh ________ y; cs;sJ. 
a. m];]hk;  b. cj;jpugpuNjrk;  c. F[uhj;   
d. gPfhh;   e. tpil njhpatpy;iy 

 
127. Aghil pass connects 

a. Tamil Nadu and Kerala    b. Arunachal Pradesh and Tibet 
c. Karakoram and Ladakh   d. Sikkim and Lhasa 
e. Answer not known 
mfpy fztha; ,izg;gJ 
a. jkpo;ehL kw;Wk; Nfush  b. mUzhr;ry gpuNjrk; kw;Wk; jpngj;  
c. fhuNfhuk; kw;Wk; ylhf;  d. rpf;fpk; kw;Wk; yhrh 
e. tpil njhpatpy;iy 

 
128. How many bio-geographical regions are present in India?    

a. 3        b. 4   c. 7    d. 10   e. Answer not known 
,e;jpahtpy; fhzg;gLk; caph; Gtpapay; mikg;gplq;fs; vj;jid?  
a. 3     b. 4   c. 7    d. 10   e. tpil njhpatpy;iy 

 
129. In India 75% of the Marine Fishing is contributed by the region of  

a. East Coast    b. North Coast   c. South coast   
d. West coast   e. Answer not known 
,e;jpahtpy; 75% fly; kPd;gpbg;gpy; gq;fspf;Fk; gFjp 
a. fpof;F flw;fiug; gFjp  b. tlf;F flw;fiug; gFjp 
c. njw;F flw;fiug; gFjp  d. Nkw;F flw;fiug; gFjp 
e. tpil njhpatpy;iy 

 
130. Match the following and choose the correct answer 

Place of Earth Quake  Year 
A. Koyna    1. 2001 
B. Kangra   2. 19 91 
C. Bhuj   3. 1967 
D. Uttar Kasi   4. 1905 
 A B C D 
a.  3 4 1 2 
b.  2 3 1 4 
c. 4 1 3 2 
d.  1 2 4 3  e. Answer not known 
gpd;tUtdtw;iw nghUj;jp rhpahd tpilia Njh;e;njLf;f  
Gtpajph;tpw;Fs;shd  ,lk; epfo;e;j Mz;L  
A. nfha;dh   1. 2001 
B. fhq;uh   2. 1991 
C. G[;    3. 1967 
D. cj;jh; fhrp   4. 1905  

A B C D 
a.  3 4 1 2 
b.  2 3 1 4 
c. 4 1 3 2 
d.  1 2 4 3  e. tpil njhpatpy;iy 
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131. According to 2011 census, the density of population in India is 
a. 382 persons per sq km   b. 324 persons per sq km   
c. 267 persons per sq km    d.  117 persons per sq km   
e. Answer not known 
2011 Mk; Mz;L fzf;nfLg;gpd;gb ,e;jpahtpy; kf;fs; njhif mlh;j;jp 
a. xU rJu fpNyh kPl;lUf;F 382 egh;fs; 
b. xU rJu fpNyh kPl;lUf;F 324 egh;fs; 
c. xU rJu fpNyh kPl;lUf;F 267 egh;fs; 
d. xU rJu fpNyh kPl;lUf;F 117 egh;fs; 
e. tpil njhpatpy;iy 

 
132. Match the following: 

Theories     Propounded by 
A. Geographical  cycle   1. Walter Penk 
B. Geomorphic cycle   2. W.M. Davis 
C. Peneplaination cycle   3. Crimkey 
D. Pedeplaination cycle  4. L.C. King 

A B C D 
a.  2 1 3 4 
b.  1 2 3 4 
c. 3 1 4 2 
d.  4 1 2 3 
e. Answer not known 
gpd;tUtdtw;iw nghUj;Jf. 
Njw;wq;fs;       tpsf;fTiufs; 
A. Gtpapay; Row;rp    1. thy;jh; ngd;f; 
B. Gtpg;Gwtpay; Row;rp   2. W.M. Nltp]; 
C. ngdpgpidd; Row;rp   3. fphPk;fp 
D. ngbgpidd; Row;rp   4. L.C. fpq; 

A B C D 
a.  2 1 3 4 
b.  1 2 3 4 
c.  3 1 4 2 
d.  4 1 2 3 
e. tpil njhpatpy;iy 

 
133. The salinity in ocean water is is highest at ______ latitudes. 

a. 0 - 50  b. 20 - 300   c. 50 - 600   
d. 80 - 900  e. Answer not known 
fly;ePhpd; cth;g;gpak; mjpfk; fhzg;gLk; ml;rg;gFjp 
a. 0 - 50  b. 20 - 300   c. 50 - 600   
d. 80 - 900  e. tpil njhpatpy;iy 

 
134. Consider the following statement: 

1. North-Western part of India get rainfall during North-East monsoon 
2. In India, Red panda is found in the western Himalayas 
3. Tamil Nadu get much rainfall during South-West monsoon 
Which of the statements(s) given above is/are correct? 
a. only 1   b. only 2   c. both 1 and 2  
d. All of these  e. Answer not known 
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fPNo nfhLf;fg;gl;Ls;s thf;fpaj;ijf; ftdp. 
1. ,e;jpahtpd; tl-Nkw;F gFjp> tl fpof;F gUtf;fhw;W fhyq;fspy; kioia ngUfpwJ 
2. ,e;jpahtpd; Nkw;F ,ka kiyg;gFjpfspy; rptg;G ghz;lh fhzg;gLfpwJ.  
3. njd;Nkw;F gUtf;fhw;W fhyj;jpy; jkpo;ehL mjpf msT kioia ngWfpd;wJ.  
NkNy nfhLf;fg;gl;Ls;s thf;fpaj;jpy; vit(fs;) rhpahdJ. 
a. 1 kl;Lk;   b. 2 kl;Lk;    c. 1 kw;Wk; 2   
d. ,it midj;Jk;  e. tpil njhpatpy;iy 

 
135. Which Monsoon area does India comes under? 

a. Area of monsoonal tendencies  b. Area of Monsoon effects 
c. Area of modified monsoon  d. Area of true monsoon 
e. Answer not known 
,e;jpah vt;tpj gUtepiy gFjpf;F fPo; cs;sJ?  
a. kiof;fhy Nghf;Ffspd; gFjp   b. gUtkio tpisT gFjp 
c. khw;wg;gl;l gUtepiy gFjp   d. cz;ikahd gUtkio gFjp 
e. tpil njhpatpy;iy 

 
136. Jhelum River Originates in the State of  

a. Himachal Pradesh b. Jammu and Kashmir   c. Punjab   
d. Uttar Pradesh  e. Answer not known 
[Pyk; ejp cw;gj;jpahFk; khepyk; 
a. ,khr;ry gpuNjrk;  b. [k;K kw;Wk; fh~;kPh;   c. gQ;rhg;    
d. cj;jpu gpuNjrk;  e. tpil njhpatpy;iy 

 
137. Which one is the longest river in peninsular India? 

a. Narmada   b. Krishna   c. Godavari   
d. Kaveri    e. Answer not known 
jPgfw;g ,e;jpahtpd; ePskhd ejp vJ? 
a. eh;kjh     b. fpU~;zh    c. Nfhjhthp      
d. fhtphp    e. tpil njhpatpy;iy 

 
138. Consider the following pairs 

1. Chambal – Narmada  
2. Son – Yamuna 
3. Manas – Brahmaputa 

Which one of the pairs given above is/are correctly matched? 
a. 1, 2 and 3   b. 1 and 2   c. 2 and 3   
d. only 3   e. Answer not known 
fPNo nfhLf;fg;gl;Ls;s MWfs; - Jiz MWfspy; vJ rhpahf nghUe;jpAs;sJ 
1. rk;gy; - eh;kjh   2. Nrhd; - aKdh   3. kdh]; - gpuk;kGj;jpuh  
a. 1, 2 kw;Wk 3  b. 1 kw;Wk; 2   c. 2 kw;Wk; 3   
d. 3 kl;Lk;   e. tpil njhpatpy;iy 

 
139. With reference to black soil, consider the following statements: 

1. It is generally clayey, deep and impermeable 
2. They swell and become sticky when wet and shrink when dried 
3. It retains the moisture for a very long time 
Which of the above statements is/are correct? 
a. 1 only  b. 1 and 2 only  c. 3 only   
d. 1, 2 and 3  e. Answer not known 
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fUg;G kz; njhlh;ghf> fPo; nfhLf;fg;gl;l njhFg;Gfis KbT nra;f. 
1. nghJthf fspkz; jd;ik> Mokhd kw;Wk; ePh; CLUt Kbahj jd;ik nfhz;lJ. 
2. <ukilAk; nghOJ cg;gyhfTk;> cyUk; nghOJ RUq;fpAk; fhzg;gLk;. 
3. <uj;jd;ikia ePz;l fhyj;jpw;F jf;f itj;Jf; nfhs;Sk;. 
NkNy nfhLf;fg;gl;l njhFg;gpy; vJ/vitnay;yhk; rhpahdit? 
a. 1 kl;Lk;  b. 1 kw;Wk; 2 kl;Lk;   c. 3 kl;Lk;   
d. 1> 2 kw;Wk; 3 e. tpil njhpatpy;iy 

 
140. Match the following : 

Mountain Pass   State 
A. Bum la     1. Sikkim 
B. Khardungla   2. Jammu and Kashmir 
C. Nathula    3. Himachal Pradesh 
D. Shipkila    4. Arunachal Pradesh 

A B C D 
a.  2 1 4 3 
b.  2 4 3 1 
c.  4  2 1 3 
d.  4 2 3 1 
e. Answer not known 
nghUj;Jf. 
kiy fztha;   khepyk; 
A. g+k; yh    1. rpf;fpk; 
B. fhh;Lq;yh    2. [k;K fh~;kPh; 
C. ehJ yh    3. `pkhr;ry gpuNjrk; 
D. rpg;fp yh    4. mUzhr;ry gpuNjrk; 

A B C D 
a.  2 1 4 3 
b.  2 4 3 1 
c.  4  2 1 3 
d.  4 2 3 1 
e. tpil njhpatpy;iy 

 

141. Which one of the following is not correctly matched? 
a. Hazaribagh - Mica 
b. Jaduguda  - Uranium 
c. Hutti  - Gold 
d. Zawar  - Copper 
e. Answer not known 
gpd;tUtdtw;wpy; vJ jtwhf nghUj;jg;gl;Ls;sJ? 
a. `rhh;ghf;  - ikfh  
b. [LFlh  - ANudpak; 
c. `l;b  - jq;fk; 
d. [hth;  - jhkpuk; 
e. tpil njhpatpy;iy 

 

142. The wild Ass Sanctuary lies in  
a. Assam  b. Gujarat   c. Maharastra   

d. Tamil Nadu e. Answer not known 
fhl;L fOij ruzhyak; vq;F mike;Js;sJ?  
a. m];]hk;  b. F[uhj;   c. kfhuh];buh  
d. jkpo;ehL  e. tpil njhpatpy;iy 
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143. Match the followings:  
Natural Vegetation     Tree  
A. Tropical evergreen forest   1. Teak     
B. Tropical deciduous forest   2. Acacia  
C. Desert vegetation    3. Sundri 
D. Tidal vegetation     4. Rosewood  
 A B C D  
a. 4 1 2 3  
b. 2 3 4 1 
c. 3 2 4 1  
d. 3 4 1 2  
e. Answer not known 
fPNo nfhLf;fg;l;ltw;iw nghUj;Jf:  
  ,aw;ifj; jhtuq;fs;   kuk;  
A. mad kz;ly gRikhwhf; fhLfs;  1. Njf;F  

B. mad kz;ly ,iyAjph; fhLfs; 2. mf;Nfrpah 
C. ghiytdj; jhtuq;fs;   3. Re;jhp 
D. Xjj; jhtuq;fs;    4. Nuh];Tl; 

A B C D  
a. 4 1 2 3  
b. 2 3 4 1 
c. 3 2 4 1  
d. 3 4 1 2 
e. tpil njhpatpy;iy 

 
144. Which of the following National Park is\are located North of the tropic of cancer? 

I. Keoladeo National Park  II. Dachigam National Park 
III. Gir National Park  IV. Manas National Park 
a. I and II only  b. II only   c. I and IV only 
d. I, II and IV only  e. Answer not known 
gpd;tUk; Njrpa g+q;fhf;fspy; vJ / vit flf Nuiff;F tlf;fpy; mike;Js;sJ?   
I. fpNahyjpNah Njrpa g+q;fh  II. lhl;rpfhk; Njrpa g+q;fh   
III. fph; Njrpa g+q;fh    IV khdh]; Njrpa g+q;fh  
a. I kw;Wk;  II kl;Lk;  b. II kl;Lk;     c. I kw;Wk; IV kl;Lk; 
d. I, II kw;Wk;  IV kl;Lk; e. tpil njhpatpy;iy 

 
145. Match the following: 

Desert    Country 
A. Kalahari   1. India 
B. Thar   2. South Africa 
C. Arizona   3. Australia 
D. Great Victoria  4. USA 
 A B C D 
a. 2 1 4 3 
b. 1 2 3 4 
c. 4 2 3 1 
d. 4 3 2 1 
e. Answer not known 
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gpd;tUtdtw;iw nghUj;Jf. 
ghiytdk;   ehLfs; 
A. fy`hhp   1. ,e;jpah 

B. jhh;    2. njd; Mg;gphpf;fh 
C.mhpNrhdh   3. M];jpNuypah 
D.nghpa tpf;Nlhhpah  4. mnkhpf;fh 
 A B C D 
a. 2 1 4 3 
b. 1 2 3 4 
c. 4 2 3 1 
d. 4 3 2 1 
e. tpil njhpatpy;iy 
 

146. Three numbers are in the ratio 1 : 2 : 3 and their HCF is 12. The numbers are 
a. 4,8,12   b. 5,10,15     c. 12,24,36     
d. 10,20,30  e. Answer not known 
%d;W vz;fspd; tpfpjq;fs; KiwNa 1 : 2 : 3 ,itfspd; HCF =  12.  
me;j vz;fs; KiwNa 
a. 4,8,12   b. 5,10,15     c. 12,24,36     
d. 10,20,30  e. tpil njhpatpy;iy 

 
147. What is the greatest number of four digits which is exactly divisible by 15, 25, 40 

and 75 separately? 
a. 9000 b. 9400 c. 9600  d. 9800 e. Answer not known 
15> 25> 40> 75 vd;w vz;fshy; tFgLk;> kpfg;nghpa ehd;F ,yf;f vz; vJ? 
a. 9000 b. 9400 c. 9600  d. 9800 e. tpil njhpatpy;iy 

 
148. The product of three numbers is 10395. If the highest common factor of these three 

numbers is 3 then find the least common multiple of these three numbers.  
a. 1100   b. 2079 c. 1155  d. 3465 e. Answer not known 
%d;W vz;fspd; ngUf;fw;gyd; 10395 kw;Wk; mtw;wpd; kPg;ngU nghJ tFj;jp 3 vdpy; 
mtw;wpd; kPr;rpW nghJklq;F 
a. 1100   b. 2079 c. 1155  d. 3465 e. tpil njhpatpy;iy 

 
149. Find the LCM of x 3 - 27, (x - 3)2, x 2 – 9 

a. (x – 3) (x + 3) (x2  + 3x +9) b. (x – 3)2 (x2 + 3x + 9)  
c. (x – 3)2 (x + 3) (x2 + 3x + 9) d. (x – 3)2 (x + 3) (x2 -3x + 9) 
e. Answer not known 
kP.ngh.k fhz;f. x 3 - 27, (x - 3)2, x 2 – 9 
a. (x – 3) (x + 3) (x2  + 3x +9) b. (x – 3)2 (x2 + 3x + 9) 
c. (x – 3)2 (x + 3) (x2 + 3x + 9) d. (x – 3)2 (x + 3) (x2 -3x + 9) 
e. tpil njhpatpy;iy 

 

150. The HCF of 
9 12 18 21

, , ,
10 25 35 40

is 

a. 
3

5
  b. 

63

700
 c.

3

1400
 d. 

252

5
 e. Answer not known 

9 12 18 21
, , ,

10 25 35 40
Mfpatw;wpd; kPg;ngU nghJ tFj;jp  

a. 
3

5
  b. 

63

700
 c.

3

1400
 d. 

252

5
 e. tpil njhpatpy;iy 


